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TOPIC 2.3
Labour Market Forces and Government Intervention:

- Demand and Supply
-~ Wage Determination
- Wage Determination

Topic 2.3 © page _1

of Labour,
in Perfect Markets,
in Imperfect Markets.

MCQ Section

The table shows the cutrent position
of a firm in a perfectly competitive

industry.

factor X | factor Y
marglnal physical product 2 8
factor price $5.00 | $10.00

If the firm sells its product for $1 and
aims to maximise profits, what should

it employ?

A more of both X and Y

B more of X and less of Y
C more of Y and less of X
D

less of both X and Y
[J08/P3/04]

The government imposes a maximum
earnings limit on recording artists.
What must result in the short run if
the measure is effective?

A a decrease in the economic rent
earned by recording artists

B a decrease in the transfer
earnings of recording artists

C a decrease in the supply of
recording artists

D adecrease in the profits of record

companies
[J08/P3/Q5]

3. A firm currently employs 30 workers at

a daily wage rate of $40.

It calculates that the marginal cost per
day of hiring an additional worker

would be $102.

By how much would the daily wage
rate have to be increased to attract an

extra worker?

A R B 2
C 2 D $102
[NOS/P3/QS]

In which circumstances is a trade

union most likely to be successful in

raising wage rates?

A The demand for the good
produced is price-elastic.

B The industry faces substantial
foreign competition.

C The industry’s cost structure is
capital-intensive.

D The workers are unskilled.

[NOS/P3/Q6]

To increase its labour force from 100
to 101 workers, a firm has to increase
its daily wage rate from $400 to $405.

What is the marginal cost of labour
per day?

A $5 B $405
C $905 D $40905
[J09/P3/Q4]

)

HELPS to MCQ

{, D Since per unit
cost is higher than the
price, therefore, less em-
ployment of both XandY
would increase MP and
lower per unit cost.

2. A The excess that
recording artists are paid
aver eamings from alter-
nalive occupation is going
to decrease.

3. A Marginal factor
cost (MFC) is the addi-
tional cost of hiring an
extra worker. :

TFC = number of workers
X wage rate,

i.e. 1200 = 30x40.
TFC rises by $102 due to
the hiring of 31st worker.
Hence wage rate

_ TFC
= “number of workers

=132.42
4. C Capital intensive
cost structure suggests
that the proportion of
labour costs to total costs
is fow, therefore, the trade
union enjoys bargaining
strength. Options A, C
and D would weaken the
bargaining position of
trade unions.

5 C

wage| total |marginal
rate |cost of| cost of
7($) labour| labour

400 4000(}

g | workers

101| 405 laogog| *°
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6.

wage
rate

What could cause the demand curve

for labour to shift to the lefi?

A adecrease in immigration

B a decrease in labour productivity

C a fall in real wages

D arise in the money wage rate
[J10/P3/03]

In the diagram S, is an individual
worker's supply of labour curve.

A
Sy

Sz

0o hours of work

What could cause the curve to shift

from S, to S,?

A adecrease in the hourly wage rate

B a decrease in work satisfaction

C a decrease in the opportunity cost

of leisure

D a decreased preference for leisure

[J10/P3/04]

A firm’s workers join a trade union
which negotiates an increase in the
workers’ wage rate.

The increase in the wage rate results
in an increase in the number employed
by the firm.

What could explain this?

A The demand for the firm’s product
is price-elastic. _

B The firm is a monopsonist within
its local labour market.

C The firm operates in a perfectly
competitive labour market.

D There is a high degree of substi-
tutability between capital and

labour.
[J10/P3/Q5]

9.

10.

A firm in a perfectly competitive in-
dustry cmploys 1wo factors of produc-
tion, X and Y.

The table shows the factor price and
the current marginal physical product
of these two factors.

“_fl'opie 2.9.u
———— T

factor X factor Y
factor price $2.50 $6.00
marginal physical product 2 8

If the firm sells its product for $1 and

aims to maximise profits, what should it

do?

A cmploy less of both X and Y

B employ less of X and more of Y

C employ more of both X and Y

D employ more of X and less of Y
[NI0/P3/Q4]

To increase its labour force from 100
to 101 workers, a firm has to increase
the daily wage rate from $300 to $302.

What is the marginal cost of labour
per day?

A B $202
C $302 D $502
[N10/P3/06]

The diagram shows a worker’s supply

11.
of labour curve.
4
wage rate S
per hour /
Wl Pt
X
z
T T n
0 10 20 30 40

hours per week

The worker is required to work a mini-
mum of 40 hours a week at the hourly
wage, OW.,
Which area measures the economic
rent obtained by the worker?
A x-y B x-+y
D y+z

[N10/P3/Q7]

C y-x

6.

MR BA MRRL < g,

ductivi decreaSGi et
'V"y WOUId npfr,.
PL ang P'ed%e

mand curyg b {d.

fo
the left, A decrre'aff?nf? 6

migration Would gy
$
Ply curve ang ahIfl
money Wage ratg )
result in 3 mo
along the demandf
labour Curve, hencg p !
p are incorregt Whilg
tion Cis irrelevan, »

7. D A decregg i
preference for loisure
means a decrease iy o
portunity cost of yoy
hence would increase g
supply of labour, A ge.
crease in hourly wage rale
would cause downward
movement along the sup-
ply curve hence Ais in-
correct while B and (
would shift supply o
labour curve to the lefl

8. B Bargaining pover
of trade union is weaken
when demand for labour s
elastic, hence Aand G
incorrect. In a perfecly
competitive labour marke!
a trade union negotiles
wage increase at the ex
pense of numb.erl em-
ployed hence Cis incor-
rect. Only in an imper-
fectly competitive !abour
market increase " ne
wage rate results inan lﬂ:
crease in number

ployed.

I
Stp.




A

B
C

D

3. Tt :
tics of employment In two occupa-
tions.

occupation | occupation

X Y

average annual wage $100 000 | $60000
aumber of weeks annual
leave 5 weeks 10 weeks
average length of
working week 48 hours | 44 hours
job security low high
ength of training course
to obtain job qualification | 1 year 2 years

12, Wha
(he marginal physical product of

Topic 2.3 O page 3
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{ is meant by ‘real wages'?

Jabour
(he opportunity cost of labour

the purchasing power of money

wages

wages net of tax
[N10/P3/Q15]

1c table shows the main characteris-

What can definitely be deduced from

the table?
A Those employed in occupation Y

attach greater importance to job
security.

Those employed in occupation
X attach less importance to
leisure activities.

There will be more competition
for places on training courses
to enter occupation X than’
occupation Y.

Occupation‘Y has greater.non-
pecuniary.-advantages: tham-

occupation-X.,
[J11/P3/03]

emand*“for‘labour in an industry.

S

15.

16.

Initially the industry’s labour market is
in equilibrium.

What cffect will the introduction of a
minimum wage OW have on the level
of employment in the industry?

A It will decrease by an amount LM.
B It will decrease by an amount LN.
C It will increase by an amount LN.
D It will increase by an amount MN.

[J11/P3/06]

Individuals are free to choose the
number of hours they work, how much
of their income they save and which
goods and services they buy.
Which type of tax will not distort the
choices individuals make?

A a tax levied on the wealth accu-
mulated by individuals

B a uniform tax which raises the
same fixed amount from all indi-
viduals

C indirect taxes on specific goods

D proportional income taxes

[J11/P3/Q12]

An actor is paid $100 000 a year. The
next best paid:job he could get is as
a lecturer at $60 000 a year.

What are his transfer earnings and his
economic rent?

transfer economic
earnings, rent
A $60 000 $40 000
B $60 000 zero
C $40 000 $60 000
D $40.000: Zero
[N11/P3/Q5]

_Wot

HELPS tt MCQ

9. B A profit maximiz-
ing firm would hire
different inputs where:

MPx _MPy
Px Py

Current employment gives

; 2 8
the following: 5-5—<g

In order to equate the val-
ues the firm should hire
less of X which would in-
crease MPx and hence
the value of fraction. It
also needs to hire more
Y so that MPy decreases.

10. D

Wage| ¢ Imc
workers| rate

100 | 300
101 302

30000
30502 (502

11. A Economic rent is
measured by the area
above the supply curve
and below the wage rate.
At OW wage rate the
worker obtains economic
rent marked as X but tri-
angle Y remains unattain-
able at OW.

12. C Wage rate
adjusted for inflation is
the real wage.

13. D Non-pecuniary

benefits are non-monetary
benelits such as duration
of annual leave, average
length of working week or
job security. From the
table the definite conclu-
sion is that there are
greater non-pecuniary
advantages: associated
with occupation Y than X.
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17. The diagram shows a perfectly com-
petitive firm’s average product of
labour (APL) and marginal product of
labour (MPL) curves.

'y

wage
(%),
labour
product
(units)

Whoeommfoae e

i APL
MPL |

22

®)
.| NN 2. AP,
N

-

workers employed

The market price of the firm’s product
is §1.

How many workers will the firm
employ at a wage of OW?

A ON, B ON,
C ON, D ON,
[J12/P3/Q4]

18. In the diagram, MRP, is a firm’s mar-
ginal revenue product of labour curve,
S is its supply of labour curve, and

MC, its marginal cost of labour curve.
\

~ MRP,

19. The diagram shows a backward slop-

N; .

Ny

ing supply curve of labour.

A S .

real
wage Wp-------------
rate

O hours worked

per week

What is correct about the substitution
effect and the income effect when the
real wage rises above QW?

Assuming profit maximisation, how .
many workers will the firm employ and
what wage will it pay?

number
employed wage
A N, Wi
B N, W;
C N, W,
D N, W,

[N12/P3/04)

—

labour

substitution income
effect eftect
A negative negative
B negative positive
C positive negative
D positive positive
[NI12/P3/05]

by

HE

Lrg ‘°Mc§

. A D
ern;
labour gy, ks

¢ g
employmem ’fle«ﬁ
¥iage rate, T, ° Vi

Employmen ity
mum wage - a,r;‘“
"l
Employment oW
MUM Wage) < o "
Hence Mminimum Yiage
duces employmem' b
the amoun LM, !

15. B Both 5 s

wealth and Propartiony) ir[:

come tax are figgly |, i
fect the choigeg of num,
ber of hours peaple wgr,
and the proportion o in.
come they save thus A
D are incorregt, Option
is Inco-rrect because n
indirect tax on specilic
goods will distort the
choices of goods.

16. A Economic rentis
the difference between
present earnings and
2arnings from alternative
amployment (transfer ear-
nings). Thus: transfer ear
nings = $60,000 and
aconomic rent is
$100,000 - $60,000

= $40,000.

17. C  MP_xP=MRP,.
And MRP_ = Wage ret
will determine employ:

ment.

18. A MCL = MRPL in-
dicates number employed
while S curve indicates
wage.

19. C Above ow W?QS
positive substitution ellz
is outweighed by nega!
income effect.
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wage

[n the diagran

mics (MCQ)
L bldivindolesaiotn

1 D, and S are the initial

demand and supply curves for build-

ing workers.

..........

.........

0 \

quantity of labour
If the demand for building workers in-
creases to Dy by how much does the

cconomic rent ecarned by building

workers rise?

A RZU B TXZU
c VWIX D XZY
[N12/P3/06]

21. A firm operates under perfect compe-

tition in both product and factor mar-
kets with labour as the only variable
factor input.

In the diagram, the line JK shows the
relationship between the marginal
physical product of labour and the
man-hours hired.

G S B B
W

22. A fashion modcl is paid $100 000 a

year.
The next best paid job she could get
is as a teacher at $60 000 a ycar,
What are her transfer earnings and
her economic rent?

transfer earnings | economic rent
$ §
A 60000 Zero
B 60000 40000
& 100000 Zero
D 100000 40000 |
[J13/P3/Q6]

23. The table shows the current position

1

of a firm in a perfectly competitive
industry.

factor X I’actorY'
marginal physical product 3 12
factor price $5.00 | $10.00

If the firm sells its product for $1 and
aims to maximise profits, what should

it employ?

A more of both X and Y
B more of X and less of Y
C more of Y and less of X
D

104
less of both X and Y
8 [J13/P3/04]
marginal physical g
product of labour
(units) 4
2
0 r
0 1 2 4 5

thousand man-hours

ml;n the hourly wage is $3.20, the
employs 4000 man-hours per day.

What i .
hat is the price of the product?

A

8160 B $200

C $320 D $640
[J13/P3/05]

24. A firm operates under perfect compe-

tition in both product and factor mar-
kets with labour as the only variable
factor input,

In the diagram, the line JK shows the
relationship between the marginal
physical product of labour and the
man hours hired.

HELPS © MCQ

20, B The area above
the market supply and be-
low the equilibrium wage
rate indicates economic
rent.

2. A MPP_ = 2 and
wage rate =$3.20, thus,

L $1.60.
2

22. B Eamings from
the next best job is called
transfer earnings while the
difference between cur-
rent earnings and transfer
earnings is known as
economic rent.

23. C A profit maximiz-
ing firm will hire the two
factors up to the level
where;

MPx _MPy

Px Py

Following is the given

situation,
3 12

5 10

In order to equate the two
fractions the firm needs to
hire less of factor X so
that the MPy increases
and hence, increases the
value of its fraction. The
firm also needs to hire
more of factor Y so that
MP, decreases and hence
reduces the value of its
fraction. The firm needs to
do this until the two frac-
tions will have the same

values.
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marginal physical g ..
product of labour
(units) 4
: N
K
o I
0 1 2 3 4 °

thousand man-hours

The price of the product is $1.60.

What will be the number of man-hours
hired by the firm if the hourly wage is

$6.407?

A 1000 B 2000
C 3000 D 4000
[N13/P3/04]

25. The diagram shows the initial position
of a labour market.

A
S
weekly
wage
D
O —
number of workers

The government increases the number
of statutory paid holidays to which
workers are entitled from 10 days a
year to 15 days a year.

How will this affect the supply and
demand curves in the diagram?

r i employers’ workers’
7demand curve | supply curve
A | shifistolefi | shifts to right
B | shifisto left shifts to left
C | shiftstoright | shifts to right
D | shiftstoright [ shiftsto left
[N13/P3/05]

26. In the diagram, HN is the initial supply
of labour curve faced by a firm, and

RM is its initial marginal cost of labour
curve.
‘ N
wege, | Y

cost of
labour

w /J K i X

R
H S —
O . P
quantity of labour

What will be the firm’s new labour
supply curve, if the workers join a
trade union and achieve a union ne-

gotiated wage, OW?

A RKX B HKX
C WM D WKN
[N13/P3/06]

In the diagram S, is an individual
worker’s supply of labour curve.

27.

A
Sy
S,

wage
rate

0 hours of work

What could cause the curve to shift
from S, to S,?

A adecrease in the hourly wage rate
B a decrease in work satisfaction

. _‘___M_KJE\?:_:S v nig
BT

840
16

When MPP - 4
=4t
ber of man-hourg ?gg&
25, A Increase .
: € in py
holidays  wi| increpaas'g
labour cost thyg shiflsl;
curve to left, howeyey
m'o.re workers i be
willing to work hence
S curve will shift to right,

26. D Original §
curve = HKN

New S curve = WKN i,
KH part of S curve yj
now change to WK,

27. D A decreased
preference for leisure sug-
gests an increased prefer
ence for work. Option A
will bring a movement
along the curve whie B
& C will shift the curve
to the left.

24, ¢C




28.

) EcONOIMICS

(Mca)

M o  decrease in the opportunity cost
QQ ‘i of Jeisurc
; for leisure

sed preference

a chl‘Cﬂ
D P3O

o table shows the marginal revenue
i { labour schedule of a profit-

duct 0 .
e imising firm producing under con-

max - > stition.
Jitions of perfect competl
RSN 415167
pumber of workers 12]3
: —mal evene | 251130] 135|140 135(130{125
B 'Pm‘lucl 8
L 373 mum number of workers the firm wi
8o, employ?
iﬂcr:; A 3 B 4
U8 ¥ 6
+ oy G~ 14/P3/05
iy [J14/P3/05]
(i
0K b .
it 29, In 2004 union officials and business-
nals men in Argentina agreed to increase
the minimum wage from 350 to 450
3= Wil e pESOS.
S oune v In which circumstances would such a
oWk rise increase employment?
et A Investment increases at a more
xleas;msi- rapid rate than consumption.
;nekas%oga-n’k B Labour and product markets are
3 MOWTE: competitive.
e W C The higher wage rate produces a
yit the 0% proportionately greater rise in
labour productivity.
D The minimum wage is set above

the equilibrium level.
[J14/P3/Q6]

30. The diagram shows an individual
worker’s supply curve of labour.

S

A/

hourly
Wage

v

—

number of hours

40

31.

:l‘hc hourly wage is W and the worker
is required to work a standard 40-hour
week,

Which area measures the minimum
amount per week he would be willing
to accept?

A v B v+x
C v-x D z-x
[J14/P3/08]

A worker is considering accepting a
job she has been offered. She draws
up a list of the annual monetary val-
ues she places on the advantages and

disadvantages of the job.

advantages and value

disadvantages of the job %)
income 750
dangerous working conditions 500
long working hours 250
high prestige of the job 200
cost of providing own uniform 150
opportunity for travel 100
short holidays 50

What can be concluded from the

_Tople 23 O page 7

HELPS » MCQ

28. C A profit maximiz-
ing firm hires workers up
to the point where its
MRPL = MCL In such a
market W =MCL. Also a
firm decides number of
workers hired only on the
decreasing part of MRPL,
therefore B is incorrect.

29, C It will increase
demand for labour and
hence result in an in-
crease in employment.

30, B Minimum amount
acceptable refers 1o
transfer earnings i.e. the
area below the supply
curve.

3. A

2 —
fanley Pecuniary (Monetary) advantage
A She values the pecuniary Income $750

advantages more highly Non-Pecuniary (Non-Monetary)

than the non-pecuniary advantages

advantages. High prestige of the job $200
B She would take the job Opportunity of travel $100

even if it had none of the Short holidays $50

non-pecuniary advantages. Total $350
C The job has no pecuniary Non-Pecuniary (Non-Monetary)

disadvantages. disadvantages

. Dangerous working conditions $500

D The non-pecuniary .

: Long working hours $250
advantages outweigh the o ingoununfom $150
non-pecuniary disadvan- Cost of providing ©

Total $900

tages.
[N] 4/P3/04]

et A
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32. To increase its labour force from 100

33.

to 101 workers, a firm has to incrense
its daily wage rate from $500 to $502,

What is the marginal cost of Inbour

per day?
A R B $200
C $202 D $702
[N] 4/P3/05]

The diagram shows an individual
worker’s supply curve of labour.

/S

3

hourly z
wage

-

o~ 40
number of hours

The hourly wage is W and the worker
is required to work a standard 40-hour
week.

Which area measures the net improve-
ment in the worker’s welfare if he were
allovzed to choose the number of
hours he wished to work per week?

A X B z-x
C z+Xx D z
[NI14/P3/06]

34. A firm’s workers join a trade union
which negotiates an increase in the

workers’ wage rate.

The increase in the wage rate results .

in an increase in the number employed

by the firm.

What could explain this?

A The demand for the firm’s product
is price-elastic.

B The firm is a monopsonist within
its local labour markct.

C The firm operates in z perfectly
competitive labour maket,

D There is a high degrec . ¢ cubsti-
tutability between cap 1 and

labour.
[N 1477 307

marginal physical

thousand hours

When the price of the product is

$1.60, the firm uses 3000 hours of

labour.

What is the hourly wage?

A §040 B 5240

C  $560 D $640
[J15/P3/03]

3, B A trada uior
facing a monopson&;l
manages to increase bl
wage rate and employ
ment. Qptions A & ¢ w
weaken the bargaipmq
position of {rade uniot
while D 8 incorrecl'
because In & parfecl
competitive marke e
unions managé to I
crease wage fale by 00«:‘
promising on gmployme”

To ;
o Tome 23 ¢
T s _‘\\ A v
35, The introduction of a minimum hourly HELPs e /1
wage for all workers over 21 years of TOM“ o T
age 18 cxpcclcd to increase the aver- Q sU
ngc wages of these workers.
What will be the likely cffect on work- 32'1\
ers under 217 Wage TAE\',\ ¢
Hn== ShieE hEae labour feye,, , 1% ¢
unemployment average wages TC, a % :
for under 21s for under 21s — ’
- ] 5500 106 <3
A falls fall $50,000 $ i
B falls e §502xc101- (1
i fall 550,702
C rises N |
o rise -
D rises 8. A TheSey,,
/N/z//P3/Q]6] cates that at OW'.'V_ ({L
rae the worr
36. A firm operates under perfect compe- less than 40 hour,
tition in both product and factor mar- fore, avoids Wiangy
kets with labour as the only variable area x that represep,
factor input negative economi g,
actor Input. 40-hour week.
In the diagram, the line JK shows the
relationship between the marginal
physical product of labour and the
hours worked:
10+ 4 38
5 8
o
L0
@ e,
Nhra _y"
- E
g2 4
B
G. 2
K
0 ]
0 1 2 3 4 5
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38

39

hourtly wags (3
D

o
:

\

:

0—/"—'—1“—
40
number of hours

offered a job which would re-
him to work a standard 40-hour
isures the low-

Which arca mes
vould have to be paid

He is
quire
\VCC]\'-
mount he

est @ - P

per week to get him to accept this job

offer? '

A wtz B xtVy

C xty-Z p wix+tzty
[J15/P3/06]

es a minimum

The government introduc
rium market

wage above the equilib

wage rate.

How will this affect low

A All those initially in employment
will receive the new guaranteed
minimum wage.

B Fewer of these mot already 1n
employment will enter the labour
force.

C There will be an increase in the
number of low-paid workers in
employment.

D Some low-paid workers will lose
their job.

-paid workers?

[J15/P3/015]

17 .
What will result from the differences

in i
" the non-pecuniary advantages of
Tlous occupations?

A disC “e . .
quilibrium
s in the labour
B lop :
35 i ; ;
ratei erm differentials in wage
C mon
ops H
D markcrt)sony In paiticular labour

shorwges of labo

. ur in i
9CCUpations particular

[N15/P3/04]

2 Toplc’ 2.3 & p-i“‘j 9

40. A firm currently pays its employees

41.

42.

on an hourly basis.

LEven though the management
ancknowledges that its employees
work to the best of their ability and
could not work any harder, the firm
decides to switch to a piece-rate sys-
tem of remuneration whereby the wage
paid to each employee depends on
their level of output.

Why might this ncw system of remu-
neration result in a significant
improvement in labour productivity?

A It will dispense with the need
for management to monitor the
actions of its employees.

B It will increase the losses that
workers will incur if they are
dismissed for not working hard
enough.

C It will lead to the recruitment
and retention of more highly
talented workers.

p It will strengthen the incentives
for workers to increase their earn-

ings.
[N15/P3/06]

A fashion model is paid $500 000 a
year,
[ the next best paid job he could get
a teacher at $100 000 a year, what
carnings and his eco-

s 48
are his transfer

nomic rent?

I t:'zllls—fg;;le'liil1gs ﬁn:—;c:nomic rent
3 3
A | 210 400 000
B 100 000 400 000
C 400 000 zero
p| 4000 | 100000
[N1 5/P3/Q7]

A firm employs a worker who adds
less to output than the previous

worker employed.

What does this illustrate?

A decreasing marginal costs
B diseconomies of scale

C increasing returns to scale
D

the law of diminishing returns
[J16/P3/Q14]

HELPS :MCQ

35, B Increase in rmini-
mur wage of above 21
will encourage the employ-
ers to employ rnore of
Ihose below 21, therefore
demand for workers below
21 and hence their wage
rate is likely to increase.

36. D At three thou-
sand hours MPP_=4units
and the firm is operating
in a perfectly competitive
product market, therefore,
MPP_x P = MRP_

ie. (4x $1.6=36.4).
Since in a perfectly com-
petitive labour market a
firm hires labour upto the
point where its MRP =
wage rate, therefore,

W =96.4.
37. B The S curve
represents minimum wage

rate acceptable to work
on this job for each hour.
Thus, it shows the
worker's opportunity cost
(transfer earnings). So the
worker will accept this
anly when his earnings at
least equal to his transfer
earmnings measured by the
area below the supply
curve up to 40 hours.

38. D A minimum wage
rate fixed above the
market equilibrium wage
rate causes demand for
Jabour to contract, there-

fore, results in less
employment.
39. B Lower wages

are compensated by
non-monetary advantages;
otherwise wage differen-
tials will be eliminated by
the movement of labour
from low wage market to
those offer higher wages.

40.-C Because it will
help to identify who pro-
duces how much in 8
given time.
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43. To increase the number of eleaners at
a local school from 10 to 11, the
employer has to raisc the hourly rate
of pay from $8.00 to $8.50.

What is the marginal cost of labour
per hour to the employer?

A 5050 B $13.50
C  $88.50 D $93.50
[116/P3/015]

For a firm in imperfect competition, the
marginal revenue product of labour at
any given level of employment is equal
to

A

44,

marginal revenue divided by the
number employed.

B marginal revenue divided by the
wage rate.

the marginal physical product of
labour multiplied by marginal rev-
enue.

the marginal physical product of
labour multiplied by the wage

rate.
[J16/P3/016]

45. ‘The addition to revenue which re-
sults from employing one additional
unit of a factor of production, the
quantities of all other factors of pro-
duction remaining constant’,

What does this define?

A marginal factor cost
‘B marginal revenue
C marginal revenue product

D the law of diminishing returns
[N16/P3/017]

46. The diagrams show the demand for
and supply of labour.

quantity of labour

47.

wago
role

economic rgny

:42(') D In " thig -
MU rises, thergfy,, -
wage Incorrec, Opﬁons B ]
rate are incorrggy o
they apply in (ne ,Ong”“
. when all inpys Cr;‘
O quantity of labour change, h
) 4.8
Which two areas represent =
economic rent? wage X Workers m
=TC -
A 1and3 ——— | Mot
B 1and4 $8x10=$80
D 2and4 \J\

[N16/P3/018]

The ‘table shows the short-run pro-
duction function of a firm with labour
as the variable factor of production.

number of workers total output
employed per day
I T 10
2 20
3 40
4 50
5 60

If workers are hired in a perfectly com-
petitive labour market at a wage rate
of $50 per day, when will the labour
cost per unit of output be at its low-
est?

B 3 workers

D 5 workers
[NI6/P3/019]

A 2 workers
C 4 workers

M. C
MHPL = MPPL XMR

45. C By definition,

46. B It is the ares
above the S curve ang
below the wage rate.

47, B Labour cost per

unit of outpul:lcl—.
output
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48, Over @
overtin
industry increascs.

¢ is likely to be a consequence of

given period the amount of
e worked in manufacturing

Wwha
this?
A a decrease in employment

p a decreasc in the rate of inflation

re rapid growth in average

Cc amo
hourly wage

carnings than in |

rates
a more rapid growth in manufac-

wring output than in productivity
[N16/P3/020]

The diagram shows the supply and

50. In 2045 a company drilling for oil
wished to reduce its workforce be-
cause of a fall in the price of oil. The
workers’ trade union opposed the pro-
posal.

Which situation would have helped
the trade union in the ncgotiations?

A Capital and labour were close
substitutes.

B The cost of labour had been a
small percentage of total cost.

C' The demand for oil had been
price inelastic.

D There had been a large supply of

labour.
[J17/P3/018]

49. Ry .
demand situation in a particular labour
market.
} supply
wagerate N
L
J z
‘ demand
K >

0]

quantity of labour

When the market is in equilibrium,
which areas measure the economic
rent and transfer earnings received by
employees?

economic rent [transfer garniﬁgs
A JLN OKLJ
B IML OKLJ
C NML OKLM
D] OKLM NML
[J17/P3/017]

51. The diagram represents the market for
labour.

A
wage

Z el

0]
number of workers
What would be the effect on transfer
carnings and economic rent of a change
in the supply curve from S, to S,?

transfer earnings | economic rent
A fall falls
B fall rises
C rise rises
D rise falls

[N17/P3/018]
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48. C Overtime wage
rate is usually higher than
the normal time wage rate.

49, B Arca above the
supply curve and below
the wage rate is labeled
as economic rent while to-
tal earnings - economic
rent = transfer earnings.
(OMLK - MJL = OJLK).

50. B Inelastic demand
for labour would help the
trade union's cause. Op-
tions A & B suggest
alastic demand for labour
while D would clearly not
help.

51. D Economic rent is
the area that is above the
supply curve and below
the wage rate and S,
shifting to S, reduces it.
Area below the supply
curve is transfer earnings
and it rises.

SRR ST NG 35,5 S

R o
SRS DA

R TR e

R A e AR
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52, The total cost to a school of employ-
ing ten cleaners is $60 per hour.

The school estimates that the hourly
marginal cost of employing an clev-
enth cleaner would be $11.50.

By how much would the hourly wage
bave to increase to employ an addi-
tional cleaner?

A $050 B $0.65
C $225 D $1150
[J18/P3/014]

§3. What would cause a rise in the pro-
ductivity of labour?
A an increase in indirect taxes

B an increase in the quality of capi-
tal

C arise in consumer surplus

D arise in the elasticity of supply of
labour

[J18/P3/015]

4. In the diagram D, and S are the initial

demand and supply curves for build-
ing workers.

85,

What would help (o explain why

there was a reduction in wage in-

equality in a country during the

post-2008 cconomic recession?

A adecline in the sharc of wages
in national output

B a decline in trade union
bargaining power

C  the existence of a minimum
wage

D the trend towards later
retirement

[NIS/P3/Q14)]

36. How is marginal revenue product

calculated?

A marginal physical product x mar-

ginal revenue

B marginal physical product + price
C total physical product x marginal

cost

D total physical product + marginal

cost

[N18/P3/015]

\
wage ﬁ
S
U ________________ Y _______ 2/
Thressmmmmmmnee e |
X} ! \
P o
R | E D, 2
0 v W -
quantity of labour

If the demand for building workers in-
creases to D, by how much does the

economic rent earned by building
workers rise?

A RUZ B TUzX
C VXzZw D Xvyz
[J18/P3/Q16)

57. A firm currently employs 30 workers

at a daily wage of $50 each,
The marginal cost of employing one
extra worker is $112 per day.

By how much will the firm have to
Increase the daily wage in order to

increase its labour force from 30 to
31 workers?

A R
C 362

B %
D $112
[NI8/P3/Q16]

— |

TR

—l :6)5

5. B Improveq lo
would  help workers"s
Improve (hejy eflicier.:0
All other opiign 5, bél
related to produclivity.“

5. B Qn & demang 4
supply diagram econor
rent is measure by the
area below the wagg
and above the suogly
curve. So at D, qupg
economic rent = ATy
while at D,=RUZ, here
it increases by the ar
TUZX.

55. C Minimum wags
must have prevented 2
wage fall for refatively
lower income group pet
ever, in recession |
would not have prevenied
a wage fall for all thosé
who were on a high
pay scale. Thus il voud
have reduced incom
equalities. Options b
B would have increzse
inequalities while G
ircglevant.

56, A By definition

57. A rale=TCIM
of workers.

MC of employ
worker=§112,1
increases TG 10 161%

ing 319
therelo
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5§, In the dingram, HN is the initin] supply HELPS o NICQ

of labour curve faced by a firm, and

RM is lts initial marginal cost of labour
RV 58. D Wage fixed by
! the union prevents it from
decreasing below OW,

wago, M N
cost of therefore HK part of the
labour / / supply curve is replaced
by WK. Beyond WK if
/‘J K X the firm hire more work-

" ers it will be facing KN
part of the old supply
R curve.
H
0 ' > 59. B Total output in-
quantity creases more than a rise
of labour in productivity only when
What will be the firm’s new labour an economy employs
supply curve if the workers join a more workers. Option A
trade union and achieve a union wnll_ decrease totgl output
negotiated wage, OW? ‘;’:;t'e C & D will affect
A RKX B HKX
CcC WM D WKN

[N18/P3/Q17]

59, Output per worker in an industry in-
creases more slowly than the
industry’s total output.

What could explain this?

A a decrease in labour productivity
B an increase in employment

C an increase in overtime working
D

[NI&/PY/QI8]
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Q2

Q3

Q4

Labour Market Forces

- Demand and Supply
- Wage Determination
- Wage Determination

and Government Interventiop.

of Labour,
in Perfect Markets,

in Imperfect Markets.
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LIST OF QUESTIONS

(J08/P4/Q3)

In some countries the power of trade unions

has decreased. In other countries, trade unions

have organised major strikes resulting in em-

ployees refusing to work.

(a) Is the existence of a trade union likely to
be the main factor that affects the supply
of labour? [10]

(b) Discuss how the theory of wage determi-
nation through market forces might need
to be altered when trade unions exist in

an industry. [15]

(N08/P4/Q5)

The economic theory of wages assumes first
that there is a perfect market and secondly that
the market will reach a stable equilibrium. It
therefore has little relevance to a commercial
world full of change and uncertainty.

Discuss whether you agree with this opinion.
[25]

(J09/P4/Q3)

Discuss what might cause inequalities in wage '

rates in an economy. [25]

(N09/P4/Q3)

By 2007, the telecommunications business
had become dominated by fewer organ-
isations. One of them, Cable and Wireless,
announced there would be 3000 job losses.
Another, Tiscali, announced 800 job losses
and BT, the UK telecoms giant, announced a
£450m major investment and restructuring re-
sulting in thousands of job cuts.

Analyse whether the above is what marginal
revenue product theory predicts will happen
when a labour market becomes less competi-
tive and large investment takes place. [25]

Q5

Q6

Q7

Q8

(J10/P4/Q4)
(a) Analyse whether an increase in the wage
rate always leads to an increase in the
number of hours worked by an individya,
[10]
A government stated that pay increases in
the coming year should be kept to a mini
mum. Discuss whether the main determi-
nants of wage rates are factors such as
trade unions and the government rather
than market forces. [15)

(N10/P4/Q4)

Recently, employers in some countries have
employed foreign workers instead of local
workers. The local workers argue that they
should have priority over foreign workers and
also that more products should be produced
at home rather than being imported.

(a) Explain, with the help of a marginal rev-
enue productivity diagram, why an em
ployer might prefer to switch to foreign
workers. (12l

(b) Discuss whether it would be beneficial for
a country to give priority to its loca
workers. [t3)

(b)

(J11/P4/Q5)

In imperfect competition, labour markets
lead to worker exploitation in terms of .
wage rates they receive compared wih Wtﬁs
rates in perfect competition. Discuss [25)
opinion,

N11/P4/Q4
( ) o it

The market is the fairest means of Wa9% g
mination. To what extent do you SUPP [25]
opinion?

can
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wage rates in some pon-essenlial occupa-
lions, such as entertainment, are very high
while wage rates in essential occupations,
such as public s.ector hospital nurses, are
much lower. This is unfair.

Analyse how ecqnomic theory can explain
these differences in wage rates and consider
whether you agree with the conclusion of this

statement. [25]

(N12lP4/Q4)

gome workers producing non-essential luxury
goods or services are paid very highly. The
wage rate is not related to the economic value
of a good or service but more to social factors
or fashion. The economic theory of wages is,
therefore, of little use in explaining wage dit-
ferentials.

Assess this argument.

(J13/P4/Q3)

In 2011, as a result of a recession, the gov-
ernments of some countries reduced the
wages that they paid to public sector workers.
Trade unions organised mass demonstrations
in protest.

[25]

Discuss how the economic theory of wage de-
termination in perfect competition can be
adapted to explain such a situation. [25]

(N13/P4/Q3)

(a) Analyse whether in a perfectly competitive
labour market it is true that a profit
maximising firm will employ labour only up
to the point where the marginal revenue
product of labour is at its maximum. [12]

Discuss whether the:marginal revenue
productivity theory. of - wages is useful in
explaining wage determination in an
imperfect- market where there is a trade
union. [13]

(14/PajQa)

(a) Some top executives and some sports
people are paid very high salaries. It is
argued that this is inevitable as people
are paid the market rate for the job. Use
economic analysis to support this opinion.

(12]

(b) 1t is argued that the wage determination in
imperfect markets leads to exploitation. It
is therefore necessary and beneficial if the
government intervenes in the determina-
lion of wage rates. Discuss whether there

ISany truth in this argument. [13]

(b)

N'ropic 23 O page 2

Q14

Q15

Q16

Q17

Q18

(N14/Pa/Qa)

A huge company with a turnover of $99.3 bil-
lion paid its chief executive $10.9 million in
2011, At the same time it was reported that
the company did not pay what was regarded
as a living wage to all its employees.

(@) Use economic analysis to help explain
why there can be wide differences in wage
rates. (12]

(b) Discuss how this analysis could be
adapted if a trade union intervened in the
process of wage determination. [13]

(J15/P4/Q4)

‘Wage determination in the factor market is just
like price determination in the product market.
It is entirely dependent on the forces of supply
and demand.’

Do you agree with this statement? [25]

(N15/P4/Q7)

(a) Distinguish between supernormal profit
and economic rent and consider the cir-
cumstances when each occurs. [12]

Discuss whether you agree with the opin-
ion that a trade union might be able to
achieve higher wages for its members but
only by causing some unemployment. [13]

(J16/P4/Q4)

(a) ‘In perfect competition in the short run,
wage rates in some occupations will be
higher than in others.’

(b)

Explain the economic analysis underlying
this. [12]
Do you agree that in an imperfect labour
market any activity by trades unions de-
signed to increase wage rates would
inevitably lead to unemployment in that
market? [13]

(N16/P4/Q6)

(a) Some occupations that do not have pleas-
ant working conditions, such as rubbish
collection, receive low pay, while those
with pleasant conditions, such as senior
managers, receive high pay.

How far does economic analysis explain
this situation? 12

Discuss what influence a trades union an.l
a government can have in determining
wage rates. [13]

(b)
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Q19 (U17ParQa)

Q20

Q21

Q22

(b) In 2016 the Trade Unlons called & ::Jrlm
of bus and train drivers after a doma
higher wages was rejected,

Use the scotomle theory of wages to C_’{:;
cuss whether a demand for higher Waﬁ 3]
s likely to be successtul.

(N17/P4/Q5)

The merit of the economic theory of wage de-
termination is that it clearly shows what the
best level of wage rates should be and thus .!s
evidence that there is no need for elther the
government or trades unions to fix wages.

Discuss this assertion. [25]

(W18/Pa/Qa)

(a) Explain how a firm detives its demand
curve for labour and consider how the
Structure of the product market in which

the firm operates affects the firm's demand
curve for labour, [12]

(b) Discuss whethet it is possible for a trade
union to negotiate higher wages ‘and more
employment. [13]

(N18/P4/Q4)

Consider whether wages are only determined

by the market forces of supply and demand.

(25]

To
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iscuS
through
when trade
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Essay
) Labour is the
made by human
ly of labour we
offered. The tota

effort, both physical and mental,
being in production. By the sup-
mean the number of hours of work
| supply of labour to a market de-
pends on the price of labour i.e. wage rate, the size
of the population, the age COIT]}')OSI.tlon of the
population, the labour force partlclpatx_op rate, the
occupational and geographical mobility of the
|abour force and the tendency of labour force in
terms of trade off between work and leisure.

The wage rate is all important in determining the
supply of labour. We first begin by deriving the
supply curve of labour for an individual worker and
then extend our analysis to market supply of
labour.

The individual's supply curve of labour is back-
ward bending. This means that after a certain wage
rate, higher wages will result in fewer hours being
worked per day, with individuals demanding more
leisure time as shown in fig. below:

A
Wage rate S
Income effect outweighs
Substitution effect

Substitution effect offsets
income effect

— ‘

No. of hours worked

0

T
a:;y:?:t;’zrd lb.end'ing supply curve can be
fect, Substitutli)p ying mcome' an'd substitution ef-
€ O workjn 0!;] effecF ofa rise in wages on num-
Sffct iy g a% ours Is positive whereas income
effect Outwg h“’e At low wage rate substitution
ing Supply cﬁrs Income effect resulting in up slop-
Substj ution f; 5 b”t_ when income effect offsets
" ellect, higher wages can lead to less

it s i _,,,Toplc 2.3 < pago 4

liours worked and a backward bending supply
curve,

The industry's supply curve of labour is obtained
by the horizontal summation of the supply curves
of individual workers and it will normally be posi-
tively sloped. Thus, the supply of labour in a par-
ticular market can be expanded by increasing the
wage offered. This will attract labour of the same
or of a nearly similar kind from other industries,
occupations, and localities. The extent to which
quantity supplied changes depends on occupa-
tional and geographical mobility of labour.

However, the position of the market supply curve
of labour will depend on the number of people will-
ing and able to do the job at each given wage rate.
This in turn depends on three factors:

Firstly, any changes in the number of qualified
people for a certain occupation results in a change
in supply of labour. Secondly, the benefits and
costs of the job such as the pleasantness or other-
wise of the working environment, job satisfaction
or dissatisfaction, status, power, the degree of job
security, holidays, perks and other fringe benefits
also alter the position of supply curve. Thirdly, the
wages and non-wage benefits in alternative jobs
can change the position of the supply of labour
curve. For instance, the higher the job-attractive-
ness in an occupation the greater the supply of
labour. Alternatively, higher wages and attractive
benefits offered in other similar industries will re-
duce the supply of labour in an occupation.

Trade unions are made up of groups of workers
who share the same interest. Their aims can range
from increasing the wage rate to improving the
working environment or taking up the case of
those who the trade unions see as being unfairly
treated. A trade union may be significantly strong
to restrict the supply of labour by lengthening the
time it takes to complete apprenticeship or by re-
stricting membership and have closed shop agree-
ments preventing non-members from being em-
ployed. However, in a situation of open shop a
union is weak and cannot influence the supply of
labour, Thus, the ability of a trade union to limit the
supply of labour is detrimental to certain factors
such as union friendly legislation, its ability to con-
trol employment contracts and most importantly
the size of its membership relative to the total mar-
ket supply of labour.

Hence, it can be stated that mere existence of trade
unions is not the main factor that affects the sup-
ply of labour, rather it depends on the relative
strength rendered to them by legislation and the
size of their membership.
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Wages are the price paid for labour, In a pcr(‘cctly
competitive labour market, so the economic theory
goes, wage rate is determined by the demand I"or
and supply of labour, Many firms competing with
one another in hiring a specific type of labour char-
acterize this type of market. Also, there are numer-
ous qualified workers with identical skills indepen-
dently supply labour. There exist perfect knowl-
edge, perfect mobility and freedom of entry and
exit. Consequently, both firms and individual work-
ers are wage takers,

The total, or market, labor demand curve is found
by summing horizontally the labor demand curves
(the marginal revenue product curves) of the indi-
vidual firms. The marginal revenue product, MRP,,
is the increase in revenue due to employing one
more unit of labour. MRP, is determined by the

MPP, (marginal physical product of labour) multi-
plied by the MR i.c.

MRP, = MPP, x MR.

On the supply side of the labor market, we assume
there is no union; workers compete individually for
available jobs. The supply curve for each type of
labor slopes upward, indicating that employers as
a group must pay higher wage rates to obtain more
workers. This is so because firms must bid these
workers away from other industries,

Wage MARKET Wage FIRM
rate rate
A A
Wheeeaa N AC, =MC,
MRP,
0 0 >

In the figure above the equilibrium wage rate and
level of employment are determined by the inter-
section of the market demand and supply curves,
Each individual firm will find it profitable to hire this
type of labor up to the point at which marginal rev-
enue product (MRP, ) is equal to marginal resource
cost (MC)).

However, labour markets are likely to contain im-
perfections, for instance, there may be a single
buyer of labour-a monopsonist. If this is the case,
then the monopsonist will be facing upward slop-

ing market supply curve and hence in order to re-
cruit additional workers it has to offer

wage rate, This is illustrated in the figure

a higher
below:

§
Wage 4 " e
rate C,

o L 1

The marginal cost curve for laboyy MC,) b
above the average cost curve for labour (A¢ Cing
be explained by the use of a simple example Ac[an
wage rate of £100, 50 workers may be empIOyé d Ifa
however, the monopsonist wishes to employ <;n’
more worker he or is forced to offer £101, the h:
crease being paid to all workers, The
is now £101 but the marginal cost is £]
ing of £101 paid to the 51st worker pl
each of the 50 original workers,

average cog
5 ]’ COmpris.
us £1 paid g,

The monopsonist, being a profit maximiser, wjj|
employ where the MC, is equal to the MRP,, i,
point A, hence L, workers will be employed, The
wage rate, however, is given by the average cogt
curve S(AC, ) and this will be W . The overall wage
bill to the monopsonist will, therefore, be oW 3B,
In a perfectly competitive non-monopsony market
the wage and numbers being employed would
have been W, and L, respectively.

Trade unions seek to increase the wage rate of
their members by either restricting the supply of
labour (explained in part a) or by direct negotiation.
Collective bargaining involves wage negotiation
between trade unions, acting on behalf of their
members, and the employers. Successful bargain-
ing could raise the wage rate, for instance, from W,
to W3, as illustrated in figure below:

Wage ‘r / M€,

W, N
W, 4 : D(MRP)
W2 4 - ’d ’/

>

0 el i
pl o)r—
own

The monopsonist facing a large number Ofemd
€es in the industry will force the wage rales
to OW, and restrict employment to L -

ofa trade union to the industry, which set8® ' ©
Jy curve

The et
a mint®

mum wage of W., will ‘kink the supp
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1d produce a discontinuity in the marginal
of labour.
1ho nonopsonist has a profit il\chxlivc to hirc ex-
(ra workers SO long as the marginal revenue prod-
set of | hown by the demand curve, is
eater § al cost of labour. Hence, it
L, workers.

will employ
Following union forced wage rise, not only do
a higher wage, but the monop-

{he workers get
conist employer actually employs more workers. It
is only when the union forces the wage rate above

W, that employment starts to fall.

The bargaining strength of trade unions when
dealing with employers depends on a number of
factors. For instance, a trade union will be in a bet-
ter bargaining position when it is not easy for em-
ployer t0 substitute labour with capital and the
elasticity of demand for the product that the firm
produces is relatively low. Also, the low proportion
of labour costs out of the total costs, majority of
the workers belong to the union and most impor-
tantly suitable political and economic climate will
add to their bargaining strength. On the other hand
high price elasticity of demand for the product,
possibility of labour substitution with capital, high
proportion of labour costs to total cost , low prof-
its and a period of high unemployment will weaken
their power.

To sum up, the introduction of trade unions is
deemed to change the analysis of wage determina-
tion but the extent to which changes have to be
made is subject to the collective bargaining

strength of trade unions.

]abOlll' ar
cost curve

abour, S
phan the margin

Question 2

il;he economic theory of wages assumes first that there
oot Bt hodiSecondly it Hie market will
a stable equilibrium. It therefore has little rel-

Evance to .
tainty, a commercial world full of change and uncer-

Discuss whether you agree with this opinion. [25]
—_— [NOS/P4/05]
Essqy;

Wages are the

rpr:: l[zaud for labour. In a perfectly com-
etem:i :::j sbo the economic theory goes,
i o y the.dcmand for and supply
g fompetmg with one another in
Pe of labour characterize this type of

Petitive Jat, ol
Vage rate i d
tabour, )\

i
rlng a speci fi

El}llrl:l'll. f\lioi there are numerous qualified workers with
identical skills independently s :

‘ y supply labour, There ex-
ist perfect kt}()wlcdgc, perfect mobility and frccdomc:f
entry and cxit. Consequently, both firms and individual
workers are wage takers. ’

The total, or market, labor demand curve is found b
sumn_ling horizontally the labor demand curves (lhz
marginal revenue product curves) of the individual
firms. The marginal revenue product, MRP,, is the in-
crease in revenue due to employing one more unit of
labour. MRP, is determined by the MPP (marginal
physical product of labour) multiplied by the MR i.e
MRP, =MPP; x MR. -
Qn the supply side of the labor market, we assume there
is no union; workers compete individually for available
jobs. The supply curve for each type of labor slopes
upward, indicating that employers as a group must pay
higher wage rates to obtain more workers. This is so
because firms must bid these workers away from other

industries.

Market Firm
wage $ g wage?
rate SIS rate
Whemmme DG W ACL = MCL
D MRP,
(0] q Q (0] q 6

In the figure above, both equilibrium wage rate and
level of employment are determined by the intersection
of the market demand and supply curves as depicted in
the left panel of the graph. Each individual firm will find
it profitable to hire this type of labor up to the point at
which its marginal revenue product (MRP, ) is equal
to marginal cost of labour (MC, ) shown in the right
panel of the graph. At a wage rate above W there is an
excess quantity of workers supplied and at a wage rate
below W there exists a shortage of workers. A mismatch
between QD and QS forces the wage rate to equilib-
rium position.

The theory further assumes that ¢
forces will eventually restore a stabl
new wage level.

Although economic theory of wa
sumes a perfectly competitive labo
modity market with a stable equilibrium, however,
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perfections, which exist 1
there may be a single buyer of |
sonist— where a large factory is
employment in a locality. If this is th

wage rate, (AC,) is no longer reperesent
zontal straight line and hence there is no st

hanges in market
e equilibrium at a

ge determination as-

ur market and com-
the

to allow various market im-
in real world. For instance,
abour —a 'monop-
the main source of
e case, then the
ed by a hori-
able equilib-




AS Level Economics (Essays)
\

rium in the labour market. Instead the wage rate in-
creases as more labour is employed. Hence, monop-
sonist faces an upward sloping market supply curve
and in order to recruit additional workers the monop-
sonist must offer a higher wage rate. In such a case,
the size of an employer's demand for labour will affect
the wage rate as illustrated in the {igure below:

A MC,
A
S(AC,)
W, c
W, / B
MRP
o) L L -

The marginal cost curve for labour (MC) ) being above
the average cost curve for labour (AC;) can be ex-
plained by the use of a simple example. At a wage rate
of £100, 50 workers may be employed. If, however, the
monopsonist wishes to employ one more worker he is
forced to offer £101, the increase being paid to all work-
ers. The average cost is now £101 but the marginal
cost is £151, comprising of £101 paid to the 51st worker
plus £1 paid to each of the 50 original workers.

The monopsonist, being a profit maximiser, will employ
where the MC, is equal to the MRP,, i.e. point A, hence
L, workers will be employed. The wage rate, however,
is given by the average cost curve S(AC,) and this will
be W,. The overall wage bill to the monopsonist will,
therefore, be OW,BL,. In a perfectly competitive non-
monopsony market the wage and numbers being em-
ployed would have been W, and L, respectively.

The analysis of economic theory of wage determina-
tion could be further extended to allow the presence of
trade unions. Trade unions seek to increase the wage
rate of their members by either restricting the supply of
labour or by direct negotiation. Collective bargaining
involves wage negotiation between irade unions, act-
ing on behalf of their members, and the employers.
Successful bargaining could raise the wage rate, for
instance, from Wm to Wu, as shown in the figure be-
low: Suppose a strong industrial union is formed by
the workers. In other words the union is a monopolis-
tic seller of labur supply and can influence wage rates,
but it faces a monopsonistic employer of labour who
can also affect wages by altering its employment, The
result is bilateral monopoly.

e A e
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This situation is shown in the fig, beloy, <
Mc,
wage A -
/’/’
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The monopsonist will seek the below-competitEVe.equ.

librium wage rate such as Wm and the union wj| pm:
for some above-competitive-equilibrium wage rate Sugh
as Wu. The outcome is indeterminate since econom;,
theory does not explain what the resulting wage ry, is

In fact we should expect the wage outcome to |je somc_l
where between Wm and Wu. All we can predict is g,
the party with the most bargaining strategy will be g,
to get its opponent to agree to a wage close to the on,
it seeks,

The bargaining strength of trade unions when dealing
with employers depends on a number of factors, For
instance, a trade union enjoys better bargaining posi-
tion when it is not easy for employer to substitute
labour with capital or the elasticity of demand for the
product that the firm produces is relatively low, Also,
the low proportion of labour costs to the total costs,
majority of the workers belonging to the union and
most importantly suitable political and economic climate
all add to their bargaining strength. On the other hand
high price elasticity of demand for the product, possi
bility of labour substitution with capital, high propor-
tion of labour costs to total cost, low profits and a pe-
riod of high unemployment will weaken their power.

To sum up, the conclusion drawn on the basis of eco-
nomic theory of wage determination is that it has mor¢
than little relevance to the real dynamic commercial
world. In fact the theory needs to be modified to allow
various market imperfections such as mnopsony and
trade unions, but the extent to which changes have t0
be made is subject to the collective bargaining strength
of trade unions and the monopsonist employer.

The monopsonist facing a large number of employes
in the industry will force the wage rates down to oW,
and restrict employment L,. The entry of a trade uni(.Jn
to the industry, which sets a minimum wage of Wy, wil
klink the supply curve of labour and produce a discon”
tinuity in the marginal cost curve of labour.

The monopsonist has a profit incentive to hire extr®
workers so long as the marginal revenue product 0
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Wwages or the price of labour, like other prices, are de-
;em;ined by economic factors. However, social and po-
litical factors also play a part in wage determination, as
labour is a unique factor, being the human factor.

The main factor which determines the level of wages in
a particular occupation is the interaction of demand for
labour and supply of labour involved in that occupa-
tion. If demand is high for a category of labour then it
is likely that wages will rise and vice versa, If supply of
a certain category of labour is limited then, again, it is
likely that wages will rise and vice versa. If labour was
ahomogeneous factor and was sold in a perfectly com-
petitive labour markets, every person would earn the
income in equilibrium. Disequilibrium differentials in
wages would arise, but workers move from lower in-
come to higher income jobs until the differentials had
disappeared.

In the real world, however, some workers scrape out a
bare living, others earn modest but adequate incomes,

while yet others earn enough to afford many of life's
luxuries,

f)ff 2 ”gltdOflf.ibour produces a certain physical amount
e”uegp:odWhthh sells at a particular price (marginal rev-
the Workelrlca) then the employer cannot afford to pay
(whick B \_Vage greater t.han th.e MRP. The MRP
Ut of Mpp erflved demand) is obtained from the prod-
n improvemz tljclbour and price of the product. Hence
Tease e g r: in the productivity of labour would in-
© rice of g1 and for labqur; likewise, an increase in
aboyy, Thuys (he l:{Oduct will increase the demand for
Y the vajye of? ¢mand for labour is greatly affected
‘hfin b Its MRP, The higher the MRP of labour
: °r the demand for labour and the higher

ages going to labour,
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vthen the lik lr ap

artic . '
e ihoodr-mular type of labour is inelastic
's that Jabour will receive higher
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entreprencur's tota) b(lz():ls.mlrfl'allnlb(gﬁ'r:?r?mgc‘ e
zlllfl demand for itg services is incl'wl']ds e
ability is that wages for that labc il e 'lhc g
e & our will be high, Thys

panding industrics will probably carn

than ]ubgur in declining industries because th i
!wvc a.hlgh MRP and demand for their scr‘;/ices 3,il»IVlI)H
mt.:lastnc. Morcover skilled workers, compared to X
slkllled workers, will, also have a high MRP and inell:z:
tic demand so again their wages will tend to be higher

T}?e supply of labour to an industry is said to be deter-
mined by the principle of net advantages. Labour wil|
try Fo move {rom an industry of lower net advantage to
an industry of higher net advantage. The supply of
labour in a particular occupation depends on the skills
and ability required, qualifications and training required
and the ability of trade unions and professional bodies
to restrict entry into an occupation.

Some income differentials arise because basic human
characteristics cause the supply of some types of
labour to remain low relative to the demand for it, even
in the long run. For instance, pop stars or footballers
where relatively rare ability is required. Similarly if a job
requires specific qualifications training then supply of
labour will be reduced and wages higher; For instance,
barristers and doctors need good qualifications and a
long period training which limits the number of people
who are able to do these job. Investment in such train-
ing is usually costly, and the return is usually in terms
of higher labour productivity and hence higher earning
power.

The strength of a trade union to achieve higher wages
will also be a considerable factor determining the level
.of wages to a particular occupation. If trade unions and
professional bodies can limit entry into certain occupa-
tions by apprenticeships and the need to pass exams
then supply will be limited and wage higher. Thus in-
dustries with a strong trade union are likely to pay
more than those with a weak trade union.

Likewise some forms of discrimination makes it diﬂ‘!cult,
or impossible, for certain groups to take certai.n jobs,
even if they are equipped by skill and education for
these jobs. Until very recently, non-whites and women
found many occupations closed to them. Even today,
when overt discrimination in hiring is illegal, man.y feel
that more subtle forms of discrimination are applied.
To isolate the effects of discrimination, we begin by
considering a non-discriminating labour market and
then introduce discrimination between two groups of
equally qualified workers called group X and group Y.

. B ' 'situations
The analysis, however, applies generally to' 'situat
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Sometimes the supply of labour to a particular occupa-
tion may be limited because the job is dangerous or
dirty. Such occupations may command higher wages,
as for miners. Other jobs, such as teaching or the "Civil
Service, have pleasant working conditions, job security
and good pension schemes. Consequently, such jobs
may earn lower wages. Similarly some jobs may have a
great many perks and fringe benefits and the money
wages may be lower because of these advantage.

If the area has a large pool of unemployed people be-
cause of declining industries then the supply of labour
to many occupations may be high and may make for
lower wages in comparison to similar occupations in
other parts of the country. Thus the more limited the
supply of labour to a particular industry the greater
likelihood of higher wages.
Many wage inequalities result from several types of
market imperfections which impede workers from mov-
ing from their current jobs to take higher-paying jogs.
For instance workers may simply not be aware of job
opportunities and wage rates in other geographic ar-
eas and in other jobs for which they qualify. Conse-
quently, the flow of qualified labor from lower-paying
to higher-paying jobs-and thus the adjustments in la-
bor supply-may not be sufficient to equalize wages
within occupations. Also many workers are reluctant to
move to new places; to leave friends, relatives, and
associates, to force their children to change schools;
to sell their houses; and to incur the costs and incon:
vc;niences of adjusting to a new job and a new commu-
nity. The reluctance or inability of workers to move

enables geographic wage differentiag With: &
occupations 0 persist. 0 the %
[t can thus be secn that wage inequalitieg are
anel ¢ 4 &
demand and supply of labour, strength o " usﬁdp,/

ous market imperfections and non monctzr g

fferencﬁ
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By 2007, the telecommunications business hadb\w'”
dominated by fewer organisations. One Ofthemc e
and Wireless, announced there woy|( be 302)%’5
losses. Another, Tiscali, announced 800 jop, 10ssc0 jih
BT, the UK telecoms giant, announced a E450m nsl i
investment and restructuring resulting in thOUSandajor
job cuts. S of
Analyse whether the above is what margina| e

product theory predicts will happen when , labou:
market becomes less competitive and large investme

takes place. i
[NogiPyy
Essay

Wages are the price paid for labour. In a perfectly com.
petitive labour market, so the economic theory goes,
wage rate is determined by the demand for and supply
of labour. Many firms competing with one another i
hiring a specific type of labour characterize this typeof
market. Also, there are numerous qualified workers with
identical skills independently supply labour. There ex
ist perfect knowledge, perfect mobility and freedom of
entry and exit. Consequently, both firms and individue
workers are wage takers.

The total, or market, labor demand curve is found by
summing horizontally the labor demand curves (the
marginal revenue product curves) of the indivndt}ﬂl
firms. The marginal revenue product, MRPL, is tht% in-
crease in revenue due to employing one more um_t 0]
labour. MRP, is determined by the MPP,, (marg™
physical product of labour) multiplied by the MR 1¢-
MRP, =MPP x MR. i’
On the supply side of the labor market, We assume.;:;le
is no union; workers compete individually for ava;opes
jobs. The supply curve for each type © labor Sst Py
upward, indicating that employers as a group ';:lsl is 8
higher wage rates to obtain more workers. Th! othef
because firms must bid these workers @
industries.
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Although economic theory of wage determination is
primarily concerned with a perfectly competitive mar-
ket, however, the theory could be extended to allow
various market imperfections, which exist in real world.
For instance, there may be a single buyer of labour—a
'monopsonist'—-where a large factory is the main
source of employment in a locality. If this is the case,
then the wage rate, (AC,) isno longer reperesented by
2 horizontal straight line. Instead the wage rate in-
creases as more labour is employed. Hence, monop-
sonist will be facing upward sloping market supply
curve and in order to recruit additional workers it has
fo offer a higher wage rate. In such a case, the size of
an employer's demand for labour will affect the wage

rate This is illustrated in the figure below:

A MC,
= S(AC,)
L
% = C
1 / B
MRP

0
L, L,

The :
the ar::r;gézal ;:tSt curve for labour (MC ) being above
Plained by (he curve .for labour (AC,) can be ex-
of£100, 5 Worlie of a simple example. At a wage rate
MOnopsonist b ;f s may be employed. If, however, the
'$ forceq (o offs es to employ one more worker he or
"Orkers, The er £101, the increase being paid to all
8inal cogt i ﬂa;/erage cost is now £101 but the mar-
YOrker piug 1 L»_jomprising of £101 paid to the 51st
Psonip ! .to cach of the 50 original workers.
t, being a profit maximiser, will employ

Lo MG i
1 Workere wilil ::q ual to the MRPL, i.c. point A, hence
employed. The wage rate, however,

J mo,
no
where

/”\\\AQEMQ
N

is gi ) ‘ ‘
b The overall venge bill 1o tho mocepsontet il
therefore, be OW BL,. In a ‘1c Bk ot g
) yBL,. In a perfectly competitive non-
monopsony market the wage and numbers being em-
ployed would have been W, and L, respectively.
In telecommunications, the decrease in demand for
Jabour is unlikely to be caused by a decrease in demand
for the product. In fact, the job losses appear to be the
fall out of large investment in capital which might have
caused factor substitution in favour of capital.
It appears that the technology in communication is
such that labor and capital are substitutable. The firms
might have estimated that they can produce some spe-
cific amount of output using a relatively small amount
of labor and a relatively large amount of capital. The

effect on the demand for labor will be the net result of
two opposed effects: the substitution effect and the

output effect.
The decline in the price of
in technology prompts the

machinery or improvement
firms to substitute machin-

ery for labor. This allows the firm to produce its output
at lower cost. So, at the fixed wage rate, smaller quanti-
ties of labor are now employed. This substitution ef-
fect decreases the demand for labor. In case when firms
make large investment as a result of a decrease in the
price of machinery, the costs of production might also
decline. With lower costs, the firm finds it profitable to
produce and sell a greater output. The greater output
increases the demand for all resources, including labor.
So this output effect increases the demand for labor.

The substitution and output effects are both present
when the price of an input changes, but they work in
opposite directions. For a decline in the price of capi-

tal, the substitution effect decreases the demand for
ect increases it. The net change

labor and the output eff
in labor demand depends on the relative sizes of the

two effects.
Large investment in response to some technological im-

provements which increase the quality of capital, have
the same effect. The better the quality of capital, the
greater the productivity of labor used with it and the
greater the likelihood of higher wages for those re-

mained employed.
In conclusion we ca

investment on emplo
depends on the net resu

effect.

n say that the outcome of large
yment of labour and wage rate
It of substitution and output
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(@) Analyse whether an increase in the wage rate al-
ways leads to an increase in the number of hours
worked by an individual, [10]

®) A povernment stated that pay increases in the
coming year should be keptto a minimum, Discuss
whether the main determinants of wage rates are
factors such as trade unions and the government
rather than market forces. [15]

[J10/P4/Q4]
Essay

(a) The wage increasc not only i1

1fluences the number

of people in the labour force, but it also affects the
number of hours worked for each worker. When
workers sell their services to employers, they are
giving up leisure in order to gain income with
which to buy goods. They can therefore be
thought of as trading leisure for higher income and

hence goods.
Economic theory suggests that the real wage is a
key determinant of the number of hours. The real
wage is the money wage rate adjusted for changes
in the price level and it measures the quantity of
goods and services that can be bought from each
hour worked. An increase in the real wage on offer
in a job should lead to someone supplying more
hours of work over a given period of time, although
there is the possibility that further increases in the
going wage rate might have little effect on an
individual’s labour supply. Indeed, there is the
possibility of a backward-bending individual
labour supply curve. This is illustrated in the fig-

ure below:

rcal wagc 4
s
WJ \
W,
/
0 Lo L L No. ot‘:—

hours worked

In the figure above, higher real wages do lead to
an increase in the number of extra hours supplied,
although the rate at which the individual is pre-
pared to give up his leisure time diminishes as the
real wage riscs. But the labour supply curve meets

(®)
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. Pa
the standard prediction that highe, \&9311
people to work longer hours, But Waggeg Ay,
wages step upwards, cventually 4p in\:;_hc_n as r;
choose 1o actually work fewer hoyrg ("Vldual rr.:
bus) thus producing a “backwar bCHdﬁclcris Parif.
supply curve. s lab,
In order to understand this we consider yp,,
and substitution effects that arise frop, . e
the rcal wage being paid to an individuaclh
We start with the income effect.

ange in
WOrker

Higher real wages increase the income (hy
one can carn from a job, but they also meansome.
target real wage can be achieved with feye glata
of labour supply. So this income effect mightm
suade people to work less hours and ero per.
tended leisurc time. yex
The substitution effect of a higher wage p,
should unambiguously give people an ime;live[e
work extra hours because the financial rewardsOOf
working are raised, and the opportunity cost of
working (measured by the wages given up whey
people opt for leisure instcad) has increased,
The relative magnitude of these two effects deter.
mines the slope of the individual supply curve. |
is normally assumned that the substitution effect
outweighs the income effect, especially at lower
wages thus producing an upward sloping supply
curve. This can be noted on the upward sloping
part of supply curve in the graph above where
wage increase from W to W, generates 2 posi-
tively sloping supply curve. However if the wage
rate becormnes high enough for the income effect to
dominate, the supply curve will begin to sloe
backwards. This occurs above a wage rate of Wy

r market, so the
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‘his is so beeause firms must bid these
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ve, both the equilibrium wage rate
loyment are determined by the in-
tersection of the market demand and supply curves
as shown in the left part of the graph. Each indi-
vidual firm will find it profitable to hire this type of
abor up to the point at which its MRPL is equal to
marginal cost of labour (MCL) as given in the right

part of the graph.

Although economic
is primarily concerne
market, however, the th
allow various market imperfections,

unions and government intervention.

de up of groups of workers
s can

In the figure abo
and level of emp

theory of wage determination
d with a perfectly competitive
eory could be extended to
such as trade

Trade unions are ma
who have a common interest. Their objective

range from improving the working environment to
taking up the cases of those members the unions
see as being unfairly dismissed. Their most impor-
tant function is to increase the wage rate of its

members.

'{"rade unions influence the market through collec-
tive bargaining. It involves the direct negotiation
between a trade union and the employers. Success-
ful collective bargaining in a perfectly competitive
labour market could raise the wage rate from W to
W,, as illustrated in figure below.

wage A
W, B s
!
|
W, !
L/ ™,
0
L, L >
l b No, of workers

employed
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The trade union may be unwilling

below the wage rate of Wy, t}:ZE’c}((;rsc:'pt;})]lcy:abm]”
curve becomes W,AS,, being pcrfcctly’clnsti;zscz
the section W,A. At the equilibrium wage of Wj
with no trade union involvement, Lj workers wouljci
be employed. However, with a wage of W, only |
are demanded and therefore L, - L, are unable {é
find employment. There may be individuals who
are willing to work for a wage below W, but they
would be prevented from doing so by the union

agreement.

Government fixing a minimum wage to protect
largely non-unionised labour from being exploited
by employers will produce the similar outcome.
However in a modern mixed economy the govern-
ment acts as a monopsonist, paying wages below
the market equilibrium levels. This brings trade
union and government into conflict. This can be

explained by the graph below:
MC,

Wage 4 /
S
\/’/ ll S(ACI.)
1
/ I
WJ——’#”
W, D(MRP)
WI / - 4 ’
0 L L L g

ng a large number of employ-
Il force the wage rates down

to OW, and restrict employment L. The entry of 2
trade union to the industry, which sets a minimum

wage of W,, will kink the supply curve of labour
and produce a discontinuity in the marginal cost
curve of labour. The government, acting as a
monopsonist, has an incentive to hire extra work-

ers so long as the MRPL is higher than the MCL.

Hence, it will employ L, workers

Following a union forced wage rise, not only do
ihe workers get a higher wage, but the monop-
sonist employer actually employs more workers. It
is only when the union forces the wage rate above
W, that employment starts to fall.

However, successful wage negotiation depends on
a number of factors. Firstly, a trade union enjoys
better bargaining position when it is not easy for
employer to substitute labour with capital. Sec-
ondly the elasticity of demand for the product that
the firm produces is relatively low. Thirdly, the pro-
portion of labour costs out of the total costs is low
and majority of the workers belong to the union.
Lastly, the suitable political and economic climate
will add to their bargaining strength.

The government faci
ees in the industry wi
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To sum up, trade unions can influence the wage
rate both in public and private scctor whcrcu_s gov-
ernment can influence the wage rate only in the
public sector of the economy.

Question 6

Recently, employers in some countries have employed
foreign workers instead of local workers. The local
workers argue that they should have priority over for-
eign workers and also that more products should be
produced at home rather than being imported.

(@) Explain, with the help of a marginal revenue pro-
ductivity diagram, why an employer might prefer to
switch to foreign workers. [12]

{b) Discuss whether it would be beneficial for a
country to give priority to its local workers. [13]

[NI10/P4/04]

Essay

(a) Marginal revenue productivity theory predicts that
a profit maximising firm will increase production up
to the point at which the last worker employed
adds just as much to revenue as it does to cost. In
other words firm’s marginal revenue product
(MRPL) =firm’s marginal cost of labour (MCL). In
outlining the theory we will initially assume;

1. Perfectly competitive product market,
2 Perfectly competitive labour market,

Marginal Revenue Product of Labour (MRPL) is
the additional revenue a firm eamns from employing
one more worker. It is the revenue from output that
each extra worker produces, i.¢. the marginal physi-
cal product multiplied by the marginal revenue,
Hence: MRP labour = MPP labour x MR good

Marginal Physical Product (MPP) is the addition to
total product as a result of the employment of an
additional unit of labour whereas MR is the addj-
tional revenue from selling an extra unit,

Marginal Cost of Labour (MCL) is the addition to
total cost resulting from employing an extra worker,
Note, in a perfectly competitive labour market

MCL = Wage rate and in 2 perfectly competitive
product market P = MR,

wage A
rate

- \
- MCL=ACL

W,
W,
W,

0]

In figure above a profit maximizing firm gy
fectly elastic supply curve for laboy MCLe:

which means that additional labour can be h'A
the same wage rate. So at W | Wage rae them a
ber of workers employed is 4 because ny
maximizing firm hires the quantity of y, Prof.
equates the MRPL with the MCL (Wage)_ lﬁ;[
wage rate was to fall to W, then the labour i 'e
curve would shift to MCL = ACL, ang e ﬁp

would, therefore, increase the number OfWOrk::;
employed to 5. Thus a decrease in wage 1y,
causes a movement along the curve from Atop
and vice versa. The MRPL curve therefore repre.
sents the firm’s demand curve for labour. It ig j,.
portant to note that the demand curve is only the
downward sloping section of the MRPL curve,

So profit seeking firms tend to hire more foreigy
workers if. as compared to the local workers, either
the cost of hiring them is low or MRPL is higher or
both. The graph below sums up the situation with
the assumption that the firm is wage taker.

! !
| |
;\MPRL E\MPRL
1 1
1 1

(local workers)t  (foreign “EEE),,
O NL N F labour

In the graph MRPL curve of local workers .is belmz
the MRPL curve of foreign workers. This differenc
could be explained by the differences in M”fj?cr
can be attributed to the superior skills and hlﬁ’inq
level of motivation of the foreign work'er s nisun th:
in a much higher output in the given time t-]ae ue
local workers. This difference could "‘l,so. = is
to health, vigor, education and traininé: qual
means that, even with the same q"an“t-y aTvor ers
ity of natural and capital resources ﬁ)rclg{1 counter
would be more efficient than their loca ¢ greate”
parts. The result is higher MRPL and henc
demand.
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uming firm can hire both foreign and local
e at the given wage rate We, then the profit
wor.l'(c,r;ing rule of MCL= MRPL results in NL em-
mﬂ‘\r":cn‘t of local workers but NF employment of
ﬁl?giz;n workers. Overall firms woulfi prefer to hire
foreigh workers mainly due to the higher MRPL.
clude casy availability and

The other aspects 1 ) .
acceptability by the foreign

relatively Jow wage
workers which induces the producers to prefer
them to Jocal workers. Cheaper foreign labour

would reduce the cost and be reflected in the sup-

ply curve.

Thus we conclude that higher productivity of for-

cign workers is reflected in higher MRPL and hence
greater demand for them whereas casy availability
of cheap foreign labour is reflected in the supply
of labour curve. In both situations profit-seeking
pusinesses would prefer to hire foreign workers to

local workers.

for the reasons discussed
e unemployment of local
ne of the most pressing

Hiring foreign workers
in part ‘@’ might caus
workers thus worsening 0
macro economic issues. In a larger perspective

growing unemployment of local workers brings
numerous problems therefore it is important to
keep unemployment levels as low as possible.

High unemployment is expensive for the govern-
ment and, therefore, for the taxpayer. For every
unemployed person, there are two costs to the
government. First, the unemployed worker will be
entitled to benefit. Secondly, there is the less obvi-
ous cost of the loss of tax revenue these workers
would have been paying through their purchases.
There are other costs of unemployment. There is
the cost to the whole economy in terms of wasted,
unused resources. The existence of any idle re-
sources means that the economy will be at a point
within its production possibility frontier (PPF).

Furthermore, unemployed workers (young men, in
particular) may create other external costs in the
tC}:::ﬂomy, like crime for example. Finally, there is
- rix;rsonal human cost to each worker. In the
i tht::rrln the unemployed worker has to put up
i ozs O.f earnings. But in the long run, the
job. o0 g': f»‘vnll find it hard.er and harder to find a
s relevay ind that the skills they have become
nt and they have had no new training.

Pref

eren

ment 1o 53610 the local workers will help govern-
fcome these problems and achieve one

of the mogt j
ost im
St important macro economic objectives.

Besideg th: :

es th i

remiuzmcelsstforeu.;,n workers tend to make sizable

Cause increa(-)'thc" families at home. This would
$Ing outflow of income and would

result in worsening of current balance. Hiring more
of local workers would keep most of the income
carned with in the economy and hence would help
to improve living standard.

Hiring local workers becomes even more important
if a particular region is dependent on one major
industry and does not offer alternative employ-
ment. Government may wish to increase employ-
ment of local workers in order to increase national
income. Employment and national income are
closely related therefore has a direct impact on the

quality of life.

Achieving higher employment rate may have an
impact on country’s exports and imports and hence
overall balance of payment. Government may wish
to achieve high employment rate in order to pro-
duce goods the country is importing and to in-
crease the output of goods country exports.
However, hiring foreign workers are not nccessar-
ily bad in all situations. Foreign workers increasc
the supply of goods and services with their labour
and simultaneously increase the demand for goods
and services with their income and spending. In

short foreign workers, in particular situations, can
prove to be an engine of growth. More efficient

foreign workers can also help the country to main-
tain its comparative advantage which otherwise
would have been eroded by the rising wage rate of
less efficient local workers.

In the end it can be concluded that although for-
eign workers compete with domestic workers for
scarce jobs, pull down the average level of real
wages and burden the welfare system yet, in par-
ticular situations, they bring benefits in terms of
efficiency, possibly higher growth and better living

standard.

Question 7

fect competition, labour markets can lead to
age rates they re-

In imper
worker exploitation in terms of the w
ce_ive compared with wage rates in perfect competition.
Discuss this opinion. [25]

[J11/P4/O5]

Essay

Wages are the price paid for labour. In a perfectly com-
petitive labour market, so the economic theory goes,
wage rate is determined by the demand for and supply

of labour. Many firms competing with one another in
hiring a specific type of labour characterize this type of
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 tarket, Also, there are numerous qualified workers with

identical skills independently suppl)f lnhour.jl here ex-
ist perfect knowledge, perfect mobility and { ',w.lo.m of
entiy and exit, Consequently, both firms and individual
workers are wage takers,
The total. or market, labor demand curve is found by
summing horizontally the labor demand curves (the
marginal revenue product curves) of the illleldl'lle
firms. The marginal revenue product, MRPL, is the in-
crease in revenue due to employing one more unit of
labour. MRPL is determined by the MPPL (marginal
physical product of labour) multiplied by the MR i.e,,
MRPL =MPPL x MR.
On the supply side of the labor market, we assume there
is no union; workers compete individually for available
jobs. The supply curve for each type of labor slopes
upward, indicating that employers as a group must pay
higher wage rates to obtain more workers, This is so

because firms must bid these workers away from other
industrics.

Market Firm

wage

g WwageA
rate rate /\
Wheeoee N AC, =MC,

1
|
i
]
O n 7 rig

D, MREL
no. of no. of
workers workers

In the figure above both equilibrium wage rate and
level of employment are determined by the intersection
of the market demand and supply curves as depicted
in the left part of the graph. Each individual firm will
find it profitable to hire this type of labor up to the
point at which its marginal revenue product (MRPL) is
equal to marginal cost of labour (MCL) shown in the
right part of the graph.

Although economic theory of wage determination is
primarily concerned with a perfectly competitive mar-
ket, however, the theory could be extended to allow
various market imperfections, which exist in real world.
For instance, there may be a single buyer of labour — a
'monopsonist' — where a large factory is the main
source of employment in a locality. If this is the case,
then the wage rate, (ACL) is no longer reperesented by
a horizontal straight line. Instead the wage rate in-
creases as more labour is employed. Hence, monop-
sonist will be facing upward sloping market supply
curve and in order to recruit additional workers it has
to offer a higher wage rate. In such a case, the size of
an employer's demand for labour will affect the wage
rate. This is illustrated in the figure below:

et e e
e e e

Wage A et
rale Mc,
W,
WI
0

The marginal cost curve for labour (MC,) be;
the average cost curve for labour (A o !
L

plained by the use of a simple example, A¢ Pl be .

of £100, 50 workers may be employed, If howeage Tt
monopsonist wishes to employ one more WOerver, the
is forced to offer £101, the increase being i e o
workers. The average cost is now £10] byt the
cost is £151, comprising of £101 paid to the 5]

plus £1 paid to each of the 50 original wore

Ao
Marging
St Workgy
IS,

The monopsonist, being a profit maximiser, wi|
where the MC, is equal to the MRPL, j.e. point
L, workers will be employed. The wage rate, howeye
is given by the average cost curve S (AC) and ”"-;’
will be W,. The overall wage bill to the monopsonjst
will, therefore, be OWBL . In a perfectly competitiye
non-monopsony market the wage and numbers being
employed would have been W, and L, respectivel;
Thus monopsony power in a labour market will resylt

in a lower level of employment and lower wages than

would exist in a competitive labour market.

Employ
A: heﬂce

However, this comparative lower wage rate and em-

ployment can be corrected by incorporating trade
unions or government,

Trade unions seek to increase the wage rate of their
members by either restricting the supply of labour (ex-
plained in part a) or by direct negotiation. Collective
bargaining involves wage negotiation between trade
unions, acting on behalf of their members, and the em-
ployers, Successful bargaining could raise the wage

rate, for instance, from W, to W, as shown in the fig-
ure below:

Wage 4

B 800 e s
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a Jarpe number of employces
wage rates down to OW,
he iﬂ"{'lsm sloyment Ly The cntry of a trade union
an strict L‘n,““-l{i.:h cets a minimum wage of W, will
industty rve of labour and produce a discon-

.o cost curve of labour,

in't

Jpist has @ profit incentive to hirc extra
(he marginal revenue product of
an the marginal cost of labour.

onapst
orkers 89 long nsl
Lo s B L, workers

[ences itwill employ Ly s
. ing a union forced wage rise, not only do the
l‘ollo“ln_‘t a higher wage, but the monopsonist em-
workcrsc%:ally employs more workers. It is only when
ployer @ ces the wage rate above W that employ-

inion for ;
e fall. Minimum wage fixed by the govern-

ent starts to
::cnt will also produce the same result.

Thus @ comparison of wage rate bCftv‘vecn perfect and
imperfect market ascertain the opinion. I-Iowevcr,.a
strong trade unions or gqvelrnment can I‘Cdl.lCe and in
some cases completely eliminate the wage difference.

‘]‘hc m

Question 8
The market is the fairest means of wage determination.
To what extent do you support this opinion? [25]

[N11/P4/04]

Essay
Wages are the price paid for labour. The concept of fair
wage is a normative issue therefore involves value
judgment. However, according to the economic analy-
sis a fair wage means that the wage rate equals mar-
ginal revenue product of labour (MRPL). If the wage
rate is less than the worker's MRPy it will be consid-
ered unfair,
In a.perfectly competitive labour market, so the eco-
nomic theory goes, wage rate is determined by the de-
mflnd for and supply of labour. Many firms competing
m:l*rla;ne. another in hiring a specific type of labour
o quz]r}fz_e (tihls type of n?arklet. Al.so, thefe are numer-
dently sul K‘i ;vorkers with 1dc?nt1cal skills indepen-
perfeet ml;l;“y_ abour. There exist perfect knowledge,
ity and freedom of entry and exit. Conse-

Quently, b e re
takers_y oth firms and individual workers are wage

The to
mmi:é, lOY l‘narkct, labor demand curve is found by
. & horizontally the labor demand curves (the

Margina| re
firms, T}, venue product curves) of the individual

Crease jn

Su

€ Marp;
revz;gmal revenue product, MRP,, is the in-
ue due to employing one more unit of
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labour. MRI"y is determined by the MPP( (marginal
physical product of labour) multiplied by the MR i.c

MRP; = MPP;« MR, -
On the supply side of the labor market, we assume there
is no union; workers compele individually for available
jobs. The supply curve for cach type of labor stopes
upward, indicating that employers as a group must pay
higher wage rates to obtain more workers. This is so
because firms must bid these workers away from other

industries.
Market Firm

wage wage
/\ e Al

rate rate ‘k

AN

1

LB MRP,

n B n
no. of no. ol
WOl‘kel‘S Wol'kers

In the figure above both equilibrium wage rate and

level of employment are determined by the intersection

of the market demand and supply curves as depicted in

the left part of the graph. Each individual firm will find

it profitable to hire this type of labor up to the point at

which its marginal revenue product (MRP) is equal to

marginal cost of labour (MCy) shown in the right part

of the graph.

Although economic theory of wage determination is

primarily concerned with a perfectly competitive mar-

ket, however, the theory could be extended to allow
various market imperfections, which exist in real world.
For instance, there may be a single buyer of labour—a
'monopsonist' —where a large factory is the main source
of employment in a locality. If this is the case, then the
wage rate, (ACL) is no longer represented by a hori-
zontal straight line. Instead the wage rate increases as
more labour is employed. Hence, monopsonist will be
facing upward sloping market supply curve and in or-
der to recruit additional workers it has to offer a higher
wage rate. In such a case, the size of an employer's
demand for labour will affect the wage rate. This is il-

lustrated in the figure below:

l\)Vrltagc lr MC,
rate
* S(AC))
V= <
: : MRP *
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Théfrﬁ;rginal cost curve for labour (MCy,) being l;\cboc\:(c
the average cost curve for labour (ACy, )'c.m’\'l s
plained by the use of a simple example, Al wi f’\ e
of £100, 50 workers may be cmployed. 1fy ho\.v.c? Llr, e
monopsonist wishes to employ one more wonlxlu \(,' d
is forced to offer £101, the increase being paid to a

workers. The average cost is now £101 'but the mar-
ginal cost is £151, comprising of £101 1?:11.(1 to the 51st
worker plus £1 paid to each of the 50 original workers.

The monopsonist, being a profit maximiser, will employ
where the MCy is cqual to the MRPy,, i.e. point A,
hence L, workers will be employed. The wage rate,
however, is given by the average cost curve S (ACy)
and this will be W,. The overall wage bill to the
monopsonist will, therefore, be OW BL;. This will al-
low the monopsonist to make larger profits, while at the
same time workers are getting less than the MRP.,
Economists refer to this as a form of exploitation and
an unfair wage rate because the wage rate is less than
the last worker's MRP. In a perfectly competitive non-
monopsony market the wage and numbers being em-
ployed would have been W, and L, respectively. Thus
the wage rate determined by the market forces is con-
sidered fair because wage rate equals the last worker's
MRP. Thus monopsony power in a labour market will
result in a lower level of employment and an unfair

wage rate than would exist in a competitive labour mar-
ket.

However, this comparative lower wage rate and em-

ployment can be corrected by incorporating trade
unions or government.

Trade unions seek to increase the wage rate of their
members by either restricting the supply of labour (ex-
plained in part a) or by direct negotiation. Collective
bargaining involves wage negotiation between trade
unions, acting on behalf of their members, and the em-
ployers. Successful bargaining could raise the wage

rate, for instance, from W to W3, as shown in the fig-
ure below:

Wage 4

The monopsonist facing
. ;i“‘ the industry will forc
- and restrict employmen

a large number of employees
e the wage rateg down to ow,
t L. The entry of a trade unjon

to the industry, which sets a Minimup, ,, <
kink the supply curve of laboyr and pr(::ﬁe of 3»\»'\
tinuity in the marginal cost curye Of lab, u'r%a isc,:”
The monopsonist has a profit inccntive ' §
workers so long as the marging| reveny

labour is greater than the Mmarging,| CO:t
Hence, it will employ L, workers

irc Cx
I,

POy

of lab

OU,'
Following a union forced wage rige

workers get a higher wage, but the Mong gy’do he
ployer actually employs more Workers, [y i oomst .
the union forces the wage rate above W, thatnl}’ Vhe,
ment starts to fall. Minimum wage fixeq by theemplo%
ment will also produce the same result in gy ;
market. However, the effect of minimyp,
above the equilibrium wage rate i 5 perfectly C:
tive labour market is likely to increage unem lom
therefore, it can worsen the situation for the
lose their jobs.

,nOtO

Ymeny
Se Who

Thus a comparison of perfect and im
gests that the wage rate fixed in a pe
market is fair because W = MRP; . However, the Wag
rate determined in an imperfectly market i Viewed 5
unfair because MRP, ishigher than W. There is there,
fore a role for the trade unions and government to i

crease the wage rate to the level considered fajr j ¢
W=MRP,.

perfect marke sug.
rfectly Competitiy,

Question 9

Wage rates in some non-essential occupations, such as
entertainment, are very high while wage rates in essen-

tial occupations, such as public sector hospital nurses,
are much lower. This is unfair.

Analyse how economic theory can explain these differ-
ences in wage rates and consider whether you agree

with the conclusion of this statement. ]
[J12/PH04]
Essay

Wages are the price paid for labour. In a perfectly ig:l
petitive labour market, so the economic theory :mn,
Wwage rate is determined by the market forces of d.fh one
and supply of labour. Many firms competing w’ctcrize
another in hiring a specific type of labour charaq ific

this type of market. Also, there are numerous qquP”
workers with identical skills indepcndenﬂymsobili‘)'
labour. There exist perfect knowledge, pcrfect:oth firms
and freedom of entry and exit. Consequently:

and individual workers are wage takers.
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» total, of market, labor demand curve is found by
1ing horizontally the labor demand curves (the
Sumninal revenue product curves) of the individual
ar% The marginal revenue product, MRP |, is the in-
ﬁrms-e in revenue due to employing one more unit of
{abour. MRP, is determined by _thf: MPP, (marginal
‘hvsical product of labour) multiplied by the MR i.e.
Onthe supply side of the labor' me}rlfet, we assume there
is o union; workers compete individually for available
jobs. The supply curve for each type of labour slopes
apward, indicating that em.ployers as a group must pay
higher wage rates to _obtam more workers. This is so
because firms must bid these workers away from other

industries.

crea

Market Firm
- wage A
:;‘:g Surplus Fite
__________ AC, =MC,
Wh-----¢-
1
“T "D, MRP
) q Q O a Q

[n the figure above, both equilibrium wage rate and
level of employment are determined by the intersection
of the market demand and supply curves as depicted
in the left panel of the graph. Each individual firm will
find it profitable to hire this type of labor up to the
point at which its marginal revenue product (MRP)is
equal to marginal cost of labour (MC,) as shown in the
right panel of the graph. At a wage rate above OW the
number of workers available to work is in excess than
the employment opportunities. While at a wage rate
below OW there exists a shortage of workers. Thus a
mismatch between QD and QS in either situation
forces the wage rate to equilibrium position.

The theory further assumes that changes in the market
forces of demand and supply will eventually restore a
stable equilibrium at a new wage level.

Demand for labour curve shifts if one of the conditions
of demand changes. As mentioned above that the de-
3;"1 for labou.r curve is derived from the MRP curve,
thelr?e ; Sln tum., is calculated by MPP x MR. Therefore if
his will?: Improvement in labour productivity then
dven can that the workers will produce more at any
g Shitg’tie rate , and the MPP curve will shift to the
the price r;g the MRP curve to the right. Similarly, if

) of the good being produced changes, then
hence the MRP at all wage
RP curve will shift leading to a change
as shown in the graph below.

this wil} chg
nge th
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We can see how shifts in demand curve will affect the
equilibrium wage and labour employed. The initial equi-
librium is wage W, and employment L ,. If, for example,
there were an improvement in the productivity levels of
the workers in an industry say due to a more efficient
use of labour through shift, then the labour demand
curve (MRP curve) would shift to the right, causing a
rise in the real wage rate to W, and a rise in numbers
employed to L,. Likewise a fall in the price of the good
say due to a fall in real incomes would make the value
of MRP to fall for all wage levels, and so the labour
demand curve would shift to the left, giving wage W,
and labour employed L.

Just like the demand for labour, changes in supply of
labour can also lead to a change in equilibrium wage
rate and employment. An increase, for instance, in the
number of people in the economy available to work in
the given industry will increase supply. This could be
because of an increase in net immigration or a change
in the demographics of the economy. These increases
in numbers will shift the supply of labour curve to the
right.

A less obvious cause is the situation in other indus-
tries. If, in relative terms, the wage rate becomes less
attractive in a similar industry, or the working condi-
tions deteriorate, then the industry in question will ex-
perience an increase in the number of workers offering
their labour services. This will shift the supply of labour
curve to the right.

A 83
Wage

rate S

»

4 D,

0 L L L Labour
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In the diagram above, we can see what happens to the
equilibrium when the supply curve shifts, A shift to the
right causes the wage rate to fall (from W to W) and
the numbers employed to rise (from 1., to L,). Ashilt to
the left causes the real wage rate to rise (from W to
W,) and the numbers employed to fall (from L, to Ly).
Referring to the question the theory better explains the
market for hospital nurses rather than the entertainment
workers. In case of public sector hospital nurses, low
Wage rate can be explained by the monoposony model
where government is the biggest, if not the sole, em-
ployer of nurses and relatively high and clastic supply
of workers. The market demand for such workers would
be low and relatively elastic. It is low because the soci-
ety places relatively lower value on their services there-
fore their MRP, and wage rate is relativ-ly is lower. It
is elastic because their role in providing health care is
not particularly considered essential. On the other
hand supply of nurses wouid be large and relatively
elastic. The supply would be abundant because low
entry requirements short training period and low cost.

In addition the lower wages of public sector nurses are
more likely to result from the weaker bargaining
strength of trade union due to the low and elastic de-
mand and abundant supply. Also the government
might have exercised its monopsony powers to main-
tain the wage rate at a lower level. '

In the case of entertainment workers the economic
theory does not explain high wage rate adequately.
None of the assumption of the theory fits in the enter-
tainment industry. There is no situation of many buy-
ers and many workers because there are few employers
and few workers. The entertainment industry is an oli-
gopoly; where a few large entertainment firms dominate
the industry. There are not many professional workers
available and they are not homogeneous thus making
it difficult to plot a market demand and supply curve
rather each worker has his own demand and supply.
Workers are not mobile at least in the short run, Over
all supply is relatively inelastic because it requires tal-
ent and a long training period to become an accom-
plished actor or a singer. Thus the workers in entertain-
ment industry can command high wages due to a
higher MRP and demand and restricted supply. Their
demand is inelastic because their role cannct be sub-
stituted with other inputs and it is high because people
place a high valuc for their services, Supply on the
other hand is restricted due to the particular natural
talent required and cost on training.

Thus, the lower wages of nurses compared to the
wages received by the workers in entertainment indys-
try is the result of different market conditions, weaker
bargaining position of trade union and the government

control.  Whether it is unf
therefore depends on who s being
tor nurses mipght feel that they are ot b U,
wages while workers in entertainmey, iL !
feel it is fair for them to receive higher y,,, 1 m,

due to the nature of work and the longer W‘}gcn, ma_‘f}:,
ing. On the other hand governmeny m‘crrd erra.{:!
according to the economic situatiop

Ce|
i ing fai and margy , i
tions they are paying fair wages tq Nurses Cong;
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Ju
askeg %mﬁn

Question 10

Some workers producing non-essentia] luxury g o

. . A »
services are paid very highly. The Wage rate i 0ds ¢,
lated to the economic value of a good o Servinm .
; bl ;
more to social factors or fashion. The econ ¢ by

. . omic the..
of wages is, therefore, of little use ip explainj e

n
differentials. § Wage
Assess this argument. o
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Essay

Wages are the price paid for labour, In a perfectly cop.

petitive labour market, so the economic theory goes

wage rate is determined by the market forces of demang

and supply of labour. Many firms competing with one
another in hiring a specific type of labour characterize
this type of market. Also, there are numerous qualified
workers with identical skills independently supply
labour. There exist perfect knowledge, perfect mobiliy
and freedom of entry and exit. Consequently, both firms
and individual workers are wage takers.

The total, or market, labor demand curve is found by
summing horizontally the labor de-mand curves (the
marginal revenue product curves) of the individtllal
firms. The marginal revenue product, MRP, is the‘ o)
crease in revenue due to employing one more unit i
labour. MRPL is determined by the MPP, (marglr.lﬂl
physical product of labour) multiplied by the MR 1€
MRP, =MPP, x MR.

On the supply side of the labor market, we msume'th;‘;
is no union; workers compete individually for ‘wml‘a ¥
jobs. The supply curve for each type of labor s:?Pﬂv
upward, indicating that employers as a group m}ls'spS’O
higher wage rates to obtain more workers. ey ;ther
because firms must bid these work-ers away from
industries.
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ove, both equilibrium wage rate a‘nd
ment arc determined by the intersection

o demand and supply curves as depicted
¢ the marke | of the graph. Each individual firm will
ol o hire this type of labor up to the
it marginal revenue product (MRP )is
.l cost of labour (MC,) as shown in the
2 oanel of the graph. At a wage s z}bove Ao
right pa £ workers available to work is in excess than
aumber of W portunities. While at a wage rate

Joyment op
lhiof:,n B\J there exists a shortage of workers. Thus a
::ismatch between QD and QS in either situation forces

the wage rate to equilibrium position.

The theory further assumes that changes in the market
forces of demand and supply will eventually restore a
dable equilibrium at a new wage level.

Demand for labour curve shifts if one of the conditions
of demand changes. As mentioned above that the de-
mand for labour curve is derived from the MRP curve,
which, in turn, is calculated by MPP x MR. Therefore if
there is an improvement in labour productivity then
this will mean that the workers will produce more at any
given wage rate and the MPP curve will shift to the
right, shifting the MRP curve to the right. Similarly, if
the price of the good being produced changes, say due
to the change in fashion or preference, then this will
change the MR and hence the MRP at all wage levels
;r;d the MRP curve will shift leading to a change in

§¢ rate as shown in the graph below.
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and curve wil] affect the
o mployed. The initial equi-
Ployment I, , If, for example,

there were ap i
vere an improvement i the productivity levels of

:lllcc W;Trlkfrs in an industry say due to a more efficient
Cl.m’(c) (r\f;t){(]))llzl::~lr(\]llllh shift, 'lhcn the labour demand
il Wil ol ‘://:)’ ‘w-(')uld shift to the right, causing a
employed o [:‘M l(‘llc (o WZ and a rise in numbers
i o z‘]‘] lkcut'lsc a fall in the price of the good,

& ehange in trend or fashion would make
the value of MRP to fall for all wage levels, and so the
labour demand curye would shift to the icft éivin 4
wage W. and labour employed L,, , :

Ii]llllxi “01; i(t]:“l\]/?rlz(f{ f;; lab9ur is greatly affected by the
¢ . The higher the MRP of labour the
greater the demand for labour and the higher will be
wages going to labour and the wage and vice versa
Hence wage differentials between different occupations
could be linked with differences in their values of
MRP, .
Just like the demand for labour, changes in supply of
labour can also lead to a change in equilibrium wage
rate and employment. An increase, for instance, in the
number of people in the economy available to work in
the given industry will increase supply. This could be
because of an increase in net immigration or a change
in the demographics of the economy. These increases
in numbers will shift the supply of labour curve to the
right. A less obvious cause is the situation in other in-
dustries. If, in relative terms, the wage rate becomes less
attractive in a similar industry, or the working condi-
tions deteriorate, then the industry in question will
experience an increase in the number of workers offer-
ing their labour services. This will shift the supply of

labour curve to the right.

A S,
Wagce
Rate S
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W,
W,
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In the diagram above, we can S€¢ what happens to the

equilibrium when the supply curve shifts. A slu\f\i/ t)oqtll:(?
right causes the wage rate to fall (from W, “’A 2 if‘t Iy
the numbers employed to rise (from L _‘0 sz): W o
the left causes the real wage rate to rise (from W,

i L)
W.) and the numbers employed to fall (from g t.o 2
3 arise because basic hu-

Thus some wage diffcrcnt:als ly of some types of
acteristi e the su :
man characteristics cause the supP emand for it, even

labour to remain low relative to the d
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in the long run. For instance, pop stars or footballers
where relatively rare ability is required. Similarly if a job
requires specific qualifications training then supply of
labour will be reduced and wages higher; For instance,
barristers and doctors need good qualifications and a
long period training which limits the number of people
who are able to do these job.
However differences in wages between different occu-
pations could result from some other factors not ac-
counted by the economic theory. If trade unions and
professional bodies, for instance, can limit entry into
certain occupations by apprenticeships and the need
to pass exams then supply will be limited and wage
higher. Thus industries with a strong trade union are
likely to pay more than those with a weak trade union.
Likewise some forms of social factors such as discrimi-
nation makes it difficult, or impossible, for certain
groups to take certain jobs, even if they are equipped
by skill and education for these jobs. Thus due to the
discriminatory practices the supply in certain occupa-
tions remains low and hence results in higher wages
compared to the occupation not really affected by so-
cial discrimination.
Sometimes the supply of labour to a particular occupa-
tion may be limited because the job is dangerous or
dirty. Such occupations may command higher wages,
as for miners. Other jobs, such as teaching or the "Civil
Service", have pleasant working conditions, job secu-
rity and good pension schemes. Consequently, such
jobs may earn lower wages. Similarly some jobs may
have a great many perks and fringe benefits and the
money wages may be lower because of these advan-
tage.
Many wage inequalities result from several types of
market im-perfections which impede workers from mov-
ing from their current jobs to take higher-paying jobs.
For instance workers may simply not be aware of job
opportunities and wage rates in other geographic ar-
eas and in other jobs for which they qualify. Conse-
quently, the flow of qualified labor from lower-paying
to higher-paying jobs — and thus the ad-justments in
labor supply — may not be sufficient to equalize wages
within occupations.
It can thus be concluded that the economic theory
gives only a limited account of wage differences be-
tween occupations. In real world, however, these dif-
ferences could arise due to many other factors not ex-

plained by the theory.

Question 11

~———

In 2011, as a result of a recession, the go;\\ N

some countries reduced the wages thyg t;: Meny ﬂf
public sector workers. Trade unjong Orgq‘e- g
demonstrations in protest. Niseq ’na;;

Discuss how the economic theory of wage

tion in perfect competition can be adapteq | tcrmina,

such a situation. 0 EXDlai,
)

Essay

Wages are the price paid for labour. In 5 perfectly

petitive labour market, so the economic theory om.

wage rate is determined by the market forces of dem? ;

and supply of labour. In such a market many firms Cogd
pete with one another in hiring a specific type Oflabou;
Moreover, there are numerous qualified workers Witl;
identical skills independently supply laboyr, There ¢y.

ist perfect knowledge, perfect mobility and freedom of
entry and exit. Consequently, both firms and individyg)
workers are wage takers.

The market demand for labor curve is found by syp.
ming horizontally the labor de-mand curves

(MRP| curves) of the individual firms. The marginal
revenue product (MRP, ) is the increase in revenue
that results from employing one more worker. MRP, s
obtained by multiplying marginal physical product of
labour (MPP) and the firm’s marginal revenue (MR).
Thus MRP, = MPP, x MR. MPP,_is the increase in
total output when one more worker is employed and is
subject to the law of diminishing returns while MR is
determined by the price of the finished product.
On the supply side of labor market, we assume there is
no union; workers compete individually for available
jobs. The supply curve for each type of labour slopes
upward, indicating that employers as a group must pay
higher wage rates to obtain more workers. This 18 80
because firms must bid these workers away from othe

industries.
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The graph sums up wage determination andtclqléompcﬁ_
for a profit maximising firm facing a Perfe; q{ the Wag®
1 . , s ¢ /
tive labour market. The left panel show {ond sllPPb&

rate is determined in the market by demaﬁ i
forces and the firm is a wage taker. On the
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as hev

vard sloping portion of the firm’s MRP, curve
he dowit ‘d for labour. The firm faces a perfectly elas-
< its dcmﬂ'::urvC of labour that also represents firm’s
tic supP \C.. It implies that additional labour can be
MC, & /I clgﬂl“e wage rate, therefore W=MC, =AC,,
pired at l(;'ng (0 the MRP theory the firm will find it
,f‘cc“;r‘ : o hire ON workers where its MRP, equals
rofitable frm would not employ more than On work-
MCy: Thic cach additional worker would add less to
ors b“‘c,“::;w (han its costs thus leading to a fall in its
the rev ;imilﬂdy' Onl workers employed indicates that
m%‘r'm can increase its proﬁt.by employing more be-
additional worker hired up to On would add
firm’s revenue than its costs.

the
cause cach

more to the
Although economic theory of wage determination as-

cumes 4 perfectly competitive market, however, the
theory could be extended to allow various real world
market imperfections. There may be, for instance, a
single buyer of labour- — a ‘monopsonist’ — Vf’here a
large factory is the main source of employment in a lo-
cality. If this is the case, then the wage rate, (AC,) is
no longer represented by a horizontal straight line. In-
stead the wage rate increases as more labour is em-
ployed. Hence, monopsonist will be facing upward
sloping market supply curve and in order to recruit
additional workers it has to offer a higher wage rate. In
such a case, the size of an employer’s demand for
labour will affect the wage rate. This is illustrated in the
figure below:

A
wage rate MC,

A (ACDS

E
2

=

1
= MRP

0 L, L, >

The higher MC, than AC| can be explained by the use
of asimple example. At a wage rate of £100, 50 workers
may be employed. If, however, the monopsonist wishes
to ef“Ploy one more worker he is forced to offer £101,
Fhe Increase being paid to all workers. The average cost
Lsfr;(;t(‘;fm'l but the marginal cost is £151, comprising
50, ;?a}d to the 51st worker plus £1 paid to each of
riginal workers.
Similar o the
Profit maximj

perfect market a monopsonist, being a
Ximiser, will employ where its MC, equals
Wofkel:sl\:?];csted by point A in the graph, hence L,
s given by the employed. The wage rate W1, however,
tive "on-mone S curve (AC)). In a perfectly competi-
€ing emp) Opsony market the wage and numbers

Ployed would have been W, and L, respec-

tively. Thus monopsony power in a labour market will
result in a lower level of employment and lower wages
than would exist in a competitive labour market. How-
cver, this comparative lower wage rate and employment

can be corrected by incorporating trade unions or gov-
crnment,

In the context of question statement if government en-
joys monopsony power then trade unions could seek
to resist the wage decrease of their members by either
restricting the supply of labour or by direct negotiation.
They can restrict the supply of labour through the use
of a closed shop or by lengthening the time it takes to
complete an apprenticeship. Over a period of time this
could reduce the supply of labour to an industry, shift-
ing the supply curve from SL, to SL, shown in the fig-
ure below.

A SL,
SL,

L, L,

D,

-
S — D

6]

The result would be an increase in the wage rate from
W, to W,, but with a reduced number employed, i.e. L,
instead of L,.

Alternatively, trade unions can influence the market
through collective bargaining. It involves the direct ne-
gotiation between a trade union, bargaining collectively
on behalf of its members, and the employer(s). If they
are operating in a perfectly competitive labour market a
successful collective bargaining could raise the wage
rate from W, to W, as illustrated in the figure below.

wage A

ratc
Sy

W, B A
1
]
|

W,

/ \D.. ‘

o , L, L, L,
No. of workers employed

The trade union may be unwilling to supply labour
below the wage rate of W,; therefore, the supply curve
becomes W,AS,, being perfectly elastic over the sec-
tion W,A. At the equilibrium wage of W, with no trade
union involvement, L, workers would be employed.
However, with a wage of W,, only L, arc demanded
and therefore L, — L, are unable to find employment.
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There may be individuals who are willing to work for a
wage below W, but they would be prevented from
d_omg so by the union agreement, So through collec-
h\fc bnrgaining a wage rate of W, has been agreed,
with L, being employed. The same result is obtained
wh.cn government fixes the minimum wage at W,. The
union, however, could attempt to maintain employment
at the equilibrium level of L, while obtaining a wage
W,. This would involve forcing the employer off the
demand curve, thus obtaining position B. This will only
be successful if the government is able to sustain em-
ployment at L, while paying a wage rate of W,.
In oth.er case suppose that the workers in this industry
organize themselves under a single union so that the
government being a monopsonistic employer now
faces a monopoly union—a bilateral monopoly. In this
case the two sides will settle the wage through collec-
tive bargaining. The outcome of bargaining depends
on the objective and strength of each side as shown in
the following graph.

wage 4
&) /

0 L, L, Ly workers

The monopsonist facing a large number of employees
in the industry will force the wage rates down to OW,
and restrict employment L ,. The successful resistance
from the trade union sets a- minimum wage of W,
which will kink the supply curve of labour and produce
a discontinuity in the marginal cost curve of labour.

The monopsonist has a profit incentive to hire extra
workers so long as the marginal revenue product of
labour is greater than the marginal cost of labour.
Hence, it will employ L, workers.

Following a union forced wage rise, not only do the
workers get a higher wage, but the monopsonist em-
ployer actually employs more workers. It is only when
the union forces the wage rate above W . that employ-
ment starts to fall. This figure can also be used to illus-
trate the effect of the government imposing a minimum
wage of W, on a monopsonistic labour market where
the equilibrium wage was initially W .

Thus the theory of wage determination can be modi-
fied to analyse various labour market imperfections
such as the government setting up the wage level or
trade unions influencing the market through various

measures.

Question 12

(a) Analyse: v‘/hether in a perfecy| B
market it is true that 5 profit maximPc,ﬁ‘iVC
employ labour only up ¢, the Mising firy
marginal revenue product of ,abouomt Wi

Fls g

mum.

®) _Discuss whether the marging) reven
ity the9ry .of wages is useful j, ex Te' plroducuy
determmat.lon In an imperfect Market #iNing wag,:

a trade union. Where there;

3

(i

[NI.?//J4/QJ/
Essay
(@) Wage is the price paid for |
p abour, In 5 pefe

competitive labour market, so the €conom;
goes, wage rate is determined by the marklect o
of demand and supply of labour. In sy} a s
many firms compete with one another in h?:,a e
specific type of labour. Moreover, there are nunga
ous qualified workers with identica] skills indemep
dently supply labour. There exist perfect kn:\f/l;:
edge, perfect mobility and freedom of entry and
exit. Consequently, both firms and individual woy.
ers are wage takers.

The market demand for labor curve is found by
summing horizontally the labor demand curves
(MRP| curves) of the individual firms. The marginl
revenue product (MRP)) is the increase in revente
that results from employing one more worker.
MRP, is obtained by multiplying marginal phys-
cal product of labour (MPP,) and the firm's mar
ginal revenue (MR). Thus MRP, = MPP xMR.
MPP, is the increase in total output when on¢
more worker is employed and is subject to the law
of diminishing returns while MR is determined by
the price of the finished product. Therefore a fim,
in the short-run, may experience production, 16
enue and profit as shown in the following table:

Wi
rat
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equals MC,, The firm would not employ more
than On workers because cach additional
worker would add less to the revenue than its
costs thus leading to a fall in its profit. Simi-

larly, Onl workers employed indicates that the
firm can increase its profit by employing more
because each additional worker hired up to On
would add more to the firm’s revenue than its
costs.

It, therefore, follows that a profit maximizing

The MRPy, rises and then declines due to the law
of diminishing returns. The wage rate (W) is con-
stant at $200 and this represents the marginal cost
MCL) and the average cost (AC,) of labour. The
profit maximising position for the firm is where
MRP, = MC,, In the table this is where 6 workers
are employed. The firm would not employ the 7th
worker since he would only add $90 to revenue but
would cost the firm $200 - hence reduces firm’s
profit by £110. Thus the firm hires six workers at
the wage rate $200 and this gives us one point on
the firm’s demand curve. A change in the wage rate
would require the firm to readjust its point of
MRP, =MC, (equilibrium) hence generating more
points on the demand curve.

On the supply side of labor market, we assume
there is no union; workers compete individually for
available jobs. The supply curve for each type of
labor slopes upward, indicating that employers as
a group must pay higher wage rates to obtain more
workers. This is so because firms must bid these
workers away from other industries.

Market Firm
wage wage
rate S rate
r . O S MRP>MC] S(AC, = MC))
! : IJMRP, <MC,
| I
i D,, ! ! MRI;L(D)
0 " workers O n, 0 " workers

'I:h? graph sums up wage determination and equi-
librium for a profit maximising firm facing a perfectly
competitive labour market. The left panel shows
that the wage rate is determined in the market by
?T‘and and supply forces and the firm is a wage
aker. On the right panel the downward sloping
{’:bmoﬂ of the firm’s MRP, curve is its demand for
cur‘:’zf- f"rlhe firm faces a perfectly elastic supply
AC I(t)' ab(?ur that alsc? represents firm’s MC; &
N tﬁe S'mphes that additional labour can be hired
So acc:”;? wage rate, therefore W = MC, = AC,.
it [,Jrof‘ rding to t_he MRP theory the firm will find

Itable to hire ON workers where its MRP;

ﬂs/'/’/—
hySiCﬂl Price = MRI’L £ wage rale Profit

No. 02 ];wodUCt AR=MR| MPPLXMPPy | W=MC,, MRP-W

\\’Od\cr’ (MPPL) [ : ‘

T 5 10 $50 $200 —~$150
bl | 0 $190 $200 | -$10
) 33 10 $330 $200 $130
; 3 10 $430 $200 | $230
5 50 10 $500 $200 $300
6 30 10 $300 $200 $100

0 $90 5200 .\

12 ‘ $ $110

®)

firm hires workers up to the point where MRP =
MC, and not necessarily where the MRP, is at its

maximum.,

Although economic theory of wage determination
assumes a perfectly competitive market, however,
the theory could be extended to allow various real
world market imperfections. There may be, for in-
stance, a single buyer of labour —a ‘monopsonist’
— where a large factory is the main source of em-
ployment in a locality. If this is the case, then the
wage rate, (AC,) is no longer represented by a
horizontal straight line. Instead the wage rate in-
creases as more labour is employed. Hence, monop-
sonist will be facing upward sloping market supply
curve and in order to recruit additional workers it
has to offer a higher wage rate. In such a case, the
size of an employer’s demand for labour will affect
the wage rate. This is illustrated in the figure

below:

A

wage rate MC
L

AC(S)

E

e
N\

MRP

L.
>

0 L, "L,

The higher MC, than AC, can be explained by the
use of a simple example. At a wage rate of £100, 50
workers may be employed. If, however, the monop-
sonist wishes to employ one more worker he is
forced to offer £101, the increase being paid to all
workers. The average cost is now £101 but the
marginal cost is £151, comprising of £101 paid to
the 51st worker plus £1 paid to each of the 50 origi-
nal workers.

Similar to the perfect market a monopsonist, being
a profit maximiser, will employ where its MCp
equals MRP,, indicated by point A in the graph,

o D E e
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hence L, workers will be employed. The wage rate
W,, however, is given by the S curve (AC,). Ina
perfectly competitive non-monopsony market the
wage and numbers being employed would have
been W, and L, respectively. Thus monopsony
power in a labour market will result in a lower level
of employment and lower wages than would exist
in a competitive labour market, However, this com-
parative lower wage rate and employment can be
corrected by incorporating trade unions.

A trade union could seek to resist the wage de-
crease of their members by either restricting the
supply of labour or by direct negotiation. They can
restrict the supply of labour through the use of a
closed shop or by lengthening the time it takes to
complete an apprenticeship. Over a period of time
this could reduce the supply of labour to an indus-
try, shifting the supply curve from SL, to SL,
shown in the figure below.

A SL,
SL,

e o

0 FA

>,
>

The result would be an increase in the wage rate
from W, to W,, but with a reduced number em-
ployed, i.e. L, instead of L,.

Alternatively, trade unions can influence the mar-
ket through collective bargaining. It involves the
direct negotia-tion between a trade union, bargain-
ing collectively on behalf of its members, and the
employer(s). Suppose that the workers in an indus-
try organize themselves under a single union so

that the monopsonist employer now faces a mo-

nopoly union — a bilateral monopoly. In this case
the two sides will settle the wage through collec-
tive bargaining. The outcome of bargaining de-
pends on the objective and strength of each side
as shown in the following graph.

wage 4 MG,

$)

S(AC)

N\
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The monopsonist facing a large number\\ %
ces in the industry will force the Wage 0 Mplgy,
to OW, and restrict cmployment [, . ,”: es d(jwn
ful resistance from the trade union slcts ¥ S'UCCQSS_
wage of W, which will Kink the sup ]mlmrnu,n
labour and produce a discontinuity i, the Curve ¢
cost curve of labour. Marg;

na|
The monopsonist has a profit incentjy, to hi
tra workers so long as the marging| ,evmuc're ex.
uct of labour is greater than the Marging| cDr d-
labour. Hence, it will employ L, workers 0st of

Following a union forced wage rise, not
the workers get a higher wage, but the
sonist employer actually employs more v,
is only when the union forces the wage .
W that employment starts to fall.

Thus the theory of wage determination ¢y be
modified to analyse various labour market imper.
fections such as the trade unions setting up the
wage level or influencing the market through yyy;.
ous other measures.
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Mongp.
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Question 13

(@) Some top executives and some sports people are
paid very high salaries. It is argued that this is
inevitable as people are paid the market rate for the
job. Use economic analysis to support this
opinion. [12]

() It is argued that the wage determination in imper-
fect markets leads to exploitation. It is therefore
necessary and beneficial if the government inter-
venes in the determination of wage rates. Discuss
whether there is any truth in this argument. [13]

[J14/P404]

Essay

(@) Wages or the price of labour, like other prices, ar¢
determined by economic factors. However, social
and political factors also play a part in wage deter-
mination, as labour is a unique factor, being the
human factor.

The main factor which determines the level.Of
wages in a particular occupation is the interaction
of demand for labour and supply of labour "
volved in that occupation. If demand is high for 2
category of labour then it is likely that wages W
rise and vice versa, If supply of a certain categor)t
of labour is limited then, again, it is likely tha
wages will rise and vice versa. If labour W& a
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neous factor and was sold ina perfectly
itive labour markets, evc'ry pc‘r.sm} wou'ld

in cquilibrium. Discquilibrium dif-
Gty would arise, but workers move
fer ential income to higher income jobs until the
ot lmv‘c"rls nad disappeared. In the real world,
d;ﬁcrclllh.omc workers scrape out a bare living,
however modest but adequate incomes, while

carmn :
m?cgfmrs carn cnough to afford many of life’s
i

Iu.\1lri€5-
If a unit of labo

amount of @ good

ur produces a certain physical
which sells at a particular price
rginal revenue product) then the employer can-
to pay the worker a wage greater than
he MRP (which is a derived demand) is
he product of MPP of labour and
uct. Hence an improvement in the

bour would increase the demand
the price of the

(ma
not afford
the MR.P. T
obtained from t
price of the prod

productivity of la :
for labour; likewise, an increase 1n
will increase the demand for labour. Thus

the demand for labour is greatly affected by the
value of its MRP. The higher the MRP of labour
the greater the demand for labour and the higher
will be wages going to labour.
In the context of this question it can be said that
MRP of sports people and top executive is high
because people place a higher value to their ser-
vices and therefore their output commands higher
market price and in return they earn higher wages.
Take the case of a footballer. He is valued because
of the talent that he displays on the pitch, and
because of his ability to bring in the crowds who
want to see him play. This makes him a good rev-
enue earner for his club, and reflects his marginal
productivity. In addition his skills are rare-some
would say unique. Also the demand for his ser-
vices is inelastic because his services cannot be
substituted with other factors. At the same time
supply of footballers is extremely limited. This is
because the level of skills required to be a profes-
sional footballer is relatively rare and it requires
S'"CNUOU'S training to become one. The combina-
:;Z’; of higher marginal productivity combined with
.a'su? demand and limited supply leads to a high
€quilibriym wage,
é’:l;;s?n‘;faf;p executive§ again the supply is rela-
Cation ang trK':’ at least in the short run. The edu-
tive jg long a::'dﬂglg rf’ql{lred to l?ecome an execu-
lal fo iy i emanding afld is certainly essen-
eryone s cu: 0 an occupation, Furthermore not
Is l‘he field that rzut to becon?c an.e.x'ecutive as this
“his impie thatqtlll]"cs certain abilities .and talents.
lted g bies ¢ supply of executives is lim-
Not vary a great deal with the wage

product

(b)

rate. In this case their carnings are largely made up
of economic rent,

Thus we conclude that it is the high demand and
relatively limited supply of footballers and top ex-
ecutives that leads to relatively high equilibrium

wage rate in the market.

Although economic theory of wage determination
assumes a perfectly competitive market, however,
the theory could be extended to allow various real
world market imperfections. There may be, for in-
stance, a single buyer of labour —a ‘monopsonist’
— where a large factory is the main source of
employment in a locality. If this is the case, then
the wage rate, (AC,) is no longer represented by a
horizontal straight line. Instead the wage rate
increases as more labour is employed. Hence,
monopsonist will be facing upward sloping market
supply curve and in order to recruit additional
workers it has to offer a higher wage rate. In such
a case, the size of an employer’s demand for labour
will affect the wage rate. This is illustrated in the

figure below:

wage rate ? MC,
a ACL(S)
Wl / C
Wi~ B
/ MRP,
e L, L i

The higher MC, than AC, can be explained by the
use of a simple example. At a wage rate of £100, 50
workers may be employed. If, however, the monop-
sonist wishes to employ one more worker he is
forced to offer £101, the increase being paid to all
workers. The average cost is now £101 but the
marginal cost is £151, comprising of £101 paid to
the 51st worker plus £1 paid to each of the 50 origi-

nal workers.
Similar to the perfect market a monopsonist, being

a profit maximiser, will employ where its MC
equals MRP,, indicated by point A in the graph,
hence L, workers will be employed. The wage rate
W,, however, is given by the S curve (AC,). In a
perfectly competitive non-monopsony market the
wage and numbers being employed would have
been W, and L, respectively. Thus monopsony
power in a labour market will result in a lower level
of employment and lower wages than would exist
in a competitive labour market. Thus it is believed
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that imperfect markets leads to exploitation. How-
ever, this comparative lower wage rate and employ-
ment can be corrected by incorporating govern-
ment intervention.

However, this comparative lower wage rate and em-
ployment can be corrected without government
intervention simply by incorporating trade unions.
A trade union could seek to resist the wage de-
crease of their members by either restricting the
supply of labour or by direct negotiation. They can
restrict the supply of labour through the use of a
closed shop or by lengthening the time it takes to
complete an apprenticeship. Over a period of time
this could reduce the supply of labour to an indus-
try, shifting the supply curve from SL; to SL,
shown in the figure below.

A SL,

\ SL,
W,

D,

0 L, L, g

The result would be an increase in the wage rate
from W, to W,, but with a reduced number em-
ployed, i.e. L, instead of L.

Alternatively, trade unions can influence the mar-
ket through collective bargaining. It involves the
direct negotia-tion between a trade union, bargain-
ing collectively on behalf of its members, and the
employer(s). Suppose that the workers in an indus-
try organize themselves under a single union so
that the monopsonist employer now faces a mo-
nopoly union —a bilateral monopoly. In this case
the two sides will settle the wage through collec-
tive bargaining. The outcome of bargaining de-
pends on the objective and strength of each side.

When government intervenes in a labour market it
fixes the minimum wage above the market wage
rate. The minimum wage is a pay floor, Employers
are not allowed to pay their employees a rate be-
low the minimum wage. The outcome of minimum
wage is illustrated on thc follcwing graph, V

wage A Mc

$) /

W
W,
W

4

0 L,

W()rkus
The monopsonist facing a large number
ees in the industry will force the wage
to OW, and restrict employment .
ment then sets a minimum wage of W
kink the supply curve of labour and p
continuity in the marginal cost curve of laboyy
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The monopsonist has a profit incentive to hir, &
tra workers so long as the marginal revenye pmd:
uct of labour is greater than the marginal cogt
labour. Hence, it will employ L, workers.

Following a minimum wage fixed by the gove.
ment, not only do the workers get a higher wag,
but the monopsonist employer actually employs
more workers. It is only when the minimum wage s
fixed above W that employment starts to fall

Thus government intervention is not the only so-
lution to deal with the exploitation of workers ina
imperfectly competitive labour market. It can also
be addressed by increasing the powers of trade
unions to fix the wage rate at a higher level.

Question 14

A huge company with a turnover of $99.3 billion P_ﬂld
its chief executive $10.9 million in 2011. At the samé mé
it was reported that the company did not pay what W&
regarded as a living wage to all its employees:

. :
(8) Use economic analysis to help explain i thigl

can be wide differences in wage rates.
| _ dif 8
(b) Discuss how this analysis could be adapt; wage
trade union intervened in the process ° 13
determination.
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(@) Wages or the price of labour, like other‘,gr socit
determined by economic factors: H?‘vaa :
and political factors also play a part " beins (he
mination, as labour is a unique fact"

human factor.
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The main factor which dcte.rmipcs the level of
aqes in o particular occupation is the interaction
“f‘%jcmand for labour and supply of labour in-
Solved in that occupatio.n..lf fiemand is high for a
category of labour then it is likely that wages will
ise and vice versa, If supply o!’ a certain category
of labour is limited .then, again, it is likely that
wages will rise and vice versa. I_f labour was a ho-
mogeneous factor and was sold ina perfectly com-
petitive labour markets, every person would earn
the income in equilibrium. Disequilibrium differen-
tials in wages would arise, but workers move from
lower income to higher income jobs until the differ-
entials had disappeared. In the real world, however,
some workers scrape out a bare living, others earn
modest but adequate incomes, while yet others
carn enough to afford many of life’s luxuries.

If a unit of labour produces a certain physical
amount of a good which sells at a particular price
(marginal revenue product) then the employer can-
not afford to pay the worker a wage greater than
the MR.P. The MRP (which is a derived demand) is
obtained from the product of MPP of labour and
price of the product. Hence an improvement in the
productivity of labour would increase the demand
for labour; likewise, an increase in the price of the
product will increase the demand for labour. Thus
the demand for labour is greatly affected by the
value of its MRP. The higher the MRP of labour
the greater the demand for labour and the higher
will be wages going to labour.

Thus some wage differentials arise because basic
human characteristics cause the supply of some
types of labour to remain low relative to the de-
mand for it, even in the long run. For instance, pop
stars or footballers where relatively rare ability is
required. Similarly if a job requires specific qualifi-
cations training then supply of labour will be re-
duced and wages higher; For instance, barristers
and doctors need good qualifications and a long
period training which limits the number of people
Wwho are able to do these job.

However a wide difference in wages between dif-
ferent occupations could also result from some
Otht‘:r factors.. If trade unions and professional
bodies, for instance, can limit entry into certain
Occupations by apprenticeships and the need to
Pass exams then supply will be limited and wage
higher. Thus industries with a strong trade union

?:i(l)i:ely to pay more than those with a weak trade

Likewi .
crlk EWise some forms of social factors such as dise

ta;mmation makes it difficult, or impossible, for cer-
N groups to take certain jobs, even if they are

()

equipped by skill and education for these jobs.
Thus due to the discriminatory practices the sup-
ply in certain occupations remains low and hence
results in higher wages compared to the occupa-
tion not really affected by social discrimination.

Sometimes the supply of labour to a particular oc-
cupation may be limited because the job is danger-
ous or dirty. Such occupations may command
higher wages, as for miners. Other jobs, such as
teaching or the “civil service” have pleasant work-
ing conditions, job security and good pension
schemes. Consequently, such jobs may earn lower
wages. Similarly some jobs may have a great many
perks and fringe benefits and the money wages
may be lower because of these advantage.

Many wage inequalities result from several types
of market im-perfections which impede workers
from moving from their current jobs to take higher-
paying jobs. For instance workers may simply not
be aware of job opportunities and wage rates in
other geographic areas and in other jobs for which
they qualify. Consequently, the flow of qualified
labor from lower-paying to higher-paying jobs —
and thus the adjustments in labor supply — may not
be sufficient to equalize wages within occupations.

Thus we conclude that the economic analysis can
explain a wide difference in the wage rate between
occupations.

Although economic theory of wage determination
assumes a perfectly competitive market, however,
the theory could be extended to allow various real
world market imperfections. There may be, for in-
stance, a single buyer of labour—a ‘monopsonist’—
where a large factory is the main source of employ-
ment in a locality. If this is the case, then the wage
rate, (AC,) is no longer represented by a horizon-
tal straight line. Instead the wage rate increases as
more labour is employed. Hence, monopsonist will
be facing upward sloping market supply curve and
in order to recruit additional workers it has to offer
a higher wage rate. In such a case, the size of an
employer’s demand for labour will affect the wage
rate. This is illustrated in the figure below:

A
wage rate MC
AvESL
A AC(S)
W, = C/
W| / HB
MRP

Q
i
e

\ 4
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The higher MC, than AC, can be explained by the
use of a simple example. At a wage rate of £100, 50
workers may be cmployed. If, however, the monop-
sonist wishes to employ one more worker he is
forced to offer £10 I, the increase being paid to all
Wworkers. The average cost is now £101 but the
marginal cost is £151, comprising of £101 paid to

the S1st worker plus £] paid to each of the 50 origi-
nal workers,

Similar to the perfect market a monopsonist, being
a profit maximiser, will employ where its MC,
equals MRP,, indicated by point A in the graph,
hence L, workers will be employed. The wage rate
W, however, is given by the S curve (AC)).Ina
perfectly competitive non-monopsony market the
Wage and numbers being employed would have
been W, and L, respectively. Thus monopsony
power in a labour market will result in a lower level
of employment and lower wages than would exist
in a competitive labour market. Thus it is believed
that imperfect markets leads to exploitation.

However, this comparative lower wage rate and em-
ployment can be corrected without government
intervention simply by incorporating trade unions.
A trade union could seek to resist the wage de-
crease of their members by either restricting the
supply of labour or by direct negotiation. They can
restrict the supply of labour through the use of a
closed shop or by lengthening the time it takes to
complete an apprenticeship. Over a period of time
this could reduce the supply of labour to an indus-

try, shifting the supply curve from SL, to SL,
shown in the figure below.

SL,
SL,

e 0

0 L, L, g

The result would be an incre
from W, to W,, but with a
ployed, i.c. L, instead of L,.

Alternatively, trade unions can influence the mar-
ket through collective bargaining. 1t involves the
direct negotiation between a trade union, b
ing collectively on behalf of jts members,
employer(s). Suppose that the workers in ar
try organize themselves under g single u

ase in the wage rate
reduced number em-

argain-
and the
1 indus-
nion sg

that the monopsonist employer Pk

nopoly union—a bilatera| Mong l, facesamr
the two sides will settle th, Wage lh; In Ca,«;
tive bargaining. The outcome (f ba:); > 'Cou%'
pends on the objective ang strength, O%ammg .
When government interyer, h

. sig
Rk esing laboy, Ma ¥
fixes the minimum wage above the i het
rate. The minimum wage js » Pay flooy, g gy,
are not allowed to pay thejr €Mployees , |

at

low the minimum wage. The outcome of . -
wage is illustrated on the f°”0Wing graph My
wage /
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workers

The monopsonist facing a large number of employ-
ees in the industry will force the wage rates down
to OW, and restrict employment L,. The govem-
ment then sets a minimum wage of W, which wil
kink the supply curve of labour and produce a dis-
continuity in the marginal cost curve of labour,

The monopsonist has a profit incentive to hire ex-
tra workers so long as the marginal revenue prod-
uct of labour is greater than the marginal cost of
labour. Hence, it will employ L, workers.

Following a minimum wage fixed by the goverr
ment, not only do the workers get a higher wag,
but the monopsonist employer actually employs
more workers. It is only when the minimum wa;ge e
fixed above W, that employment starts to fall-

Thus government intervention is not the onlyns;
lution to deal with the exploitation of workers ]also
imperfectly competitive labour market. It cz;ntrade
be addressed by increasing the powers ©

o
. . 'aher \Va;,
unions so that they can bargain for a hig
rate.
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¢ determination in the factor market is just like
‘“.af"dc,crminnlion in the product market, It is cntircly
dn:;ndcnl on the forces of supply and demand.’
o

Do you agree with this statcment? [25]
[J15/P4/04]
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the theory of firm, price of a product is
he market forces of demand and supply
only when a market can be classified as perfectly com-
otitive. However, when various market imperfections
such as varying number of firms, entry exit barriers,
differentiated product, and imperfect information exist
it is not the case. In fact the theory of firm does pro-
vide room to analyze how price in such conditions is
determined. Similarly the theory of labour explains wage
determination through the forces of demand and sup-
ply only where it can be classified as perfectly com-

petitive labour market.
In a perfectly competitive labour market, so the eco-
nomic theory goes, many firms compete with one an-
other in hiring a specific type of labour. Also, there are
numerous qualified workers with identical skills inde-
pendently supply labour. There exist perfect knowl-
edge, perfect mobility and freedom of entry and exit.
Consequently, both firms and individual workers are
wage takers.
The total, or market, labor demand curve is found by
summing horizontally the labor demand curves (the
marginal revenue product curves) of the individual
firms. The marginal revenue product, MRP, is the in-
crease in revenue resulting from employing an addi-
tional worker. MRP, is determined by the MPP,, (mar-
ginal physical product of labour) multiplied by the MR
ie. MRP, =MPP, x MR.
F)n the supply side of the labor market, we assume there
I no union; workers compete individually for available
lobs. The supply curve for each type of labor slopes
:IP\;’]ard, indicating that employers as a group must pay
gher wage rates to obtain more workers. This is so

be .
X CaUSt? firms must bid these workers away from other
industries.

According t0
Jetermined by t

Markct Firm
Wape
iis wage
rate
Wheemel N
0
N  workers 0 N workers

In the figure above, both the equilibrium wage rate and
level of employment arc determined by the intersection
of the market demand and supply curves as shown in
the left part of the graph. Each individual firm will find
it profitable to hire this type of labor up to the point at
which its MRP| is equal to marginal cost of labour
(MC,) as given in the right part of the graph. MC, is
the cost of hiring an additional worker and it remains
the same because an individual firm can employ each
additional worker at the same wage rate without affect-
ing the market wage rate in any way. So, a profit maxi-
mizing firm will not hire any worker whose MRP,, is less
than his MC__simply because it will reduce the firm’s

profit.

The equilibrium wage rate remains there so long as
demand and supply conditions do not change. If, how-
ever, cither market demand or supply or both change
the equilibrium wage rate can also change. When most
of the firms, for instance, introduce a new training pro-
gram with the view to improve productivity of their
workers or else they provide improved equipments to
their workers, then the result could be a higher MRP
leading to an increase in demand for labour and hence
the wage rate. That is not all in fact a change in the
market price of the product that labour produces will
affect their MRP, and hence their demand and the
wage rate. Similarly a dccrease in wage rate in other
similar industries may increase supply of labour in the
other and therefore results in excess supply of labour
leading to a fall in the wage rate. Also, if number of
individuals who qualify to work in an occupation de-
clines, say due to migration abroad, then supply of
labour decreases and the resulting shortage drives the

wage rate up.
So, the equilibrium wage rate may rise or fall in re-
sponse to a change in demand and supply under the
conditions of perfectly competitive labour market. In
the real world, however, conditions of a perfectly com-
petitive labour market cannot hold in many cases just
like conditions of perfectly competitive product market
rarely exist. The theory of wage determination then pro-
vides room to analyze how wage rate will be determined
just like theory of firm explains how price determination
is not entirely dependent on the market forces of de-
mand and supply in imperfect market. So, now we ex-
tend our analysis to allow various market imperfec-
tions, such as monopsony, trade unions and govern-
ment intervention.

In the contrary to perfect market there may be, for in-
stance, a single buyer of labour — a ‘monopsonist” —
where a large factory is the main source of employment
in a locality. If this is the case, the monopsonist will be
facing upward sloping market supply curve and in or-
der to recruit additional workers it has to offer a higher

i RS
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Question 15
nination in the factor market is just like
ation in the product market. It is cntirely
e forces of supply and demand.’

“Wage detert
rice determin
dependent Of th

Do you agree with this statement? [25]
[J15/P4/Q4]
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Essay

According to the theory of firm, price of a product is
determined by the market forces of demand and supply
only when a market can be classified as perfectly com-
petitive. However, when various market imperfections
such as varying number of firms, entry exit barriers,
differentiated product, and imperfect information exist
it is not the case. In fact the theory of firm does pro-
vide room to analyze how price in such conditions is
determined. Similarly the theory of labour explains wage
determination through the forces of demand and sup-
ply only where it can be classified as perfectly com-
petitive labour market.

In a perfectly competitive labour market, so the eco-
nomic theory goes, many firms compete with one an-
other in hiring a specific type of labour. Also, there are
numerous qualified workers with identical skills inde-
pendently supply labour. There exist perfect knowl-
edge, perfect mobility and freedom of entry and exit.
Consequently, both firms and individual workers are
wage takers.

The total, or market, labor demand curve is found by
summing horizontally the labor demand curves (the
marginal revenue product curves) of the individual
firms. The marginal revenue product, MRP L» is the in-
trease in revenue resulting from employing an addi-
tional worker. MRP; is determined by the MPP; (mar-
ginal physical product of labour) multiplied by the MR
Le.MRP, = MPP, x MR.
i(s)l:]:)he supply side of the labor market, we assume there
iobs lr'lfllion; workers compete individually for available
upw' ’ e Sl_lppl.y curve for each type of labor slopes
ward, indicating that employers as a group must pay

hl e K
bc%zurs W:ge rates to obtain more workers. This is so
: ¢ irms must bid these workers away from other
Ndustries, '
Market Firm
Wage
rate wage
rate
W --------
!
0 N | £L
orkers O N workers

In the figure above, both the equilibrium wage rate and
level of employment arc determined by the intersection
of the market demand and supply curves as shown in
the left part of the graph. Each individual firm will find
it profitable to hire this type of labor up to the point at
which its MRP| is equal to marginal cost of labour
(MC,) as given in the right part of the graph. MC, is
the cost of hiring an additional worker and it remains
the same because an individual firm can employ each
additional worker at the same wage rate without affect-
ing the market wage rate in any way. So, a profit maxi-
mizing firm will not hire any worker whose MRP, is less
than his MC, simply because it will reduce the firm’s
profit.

The equilibrium wage rate remains there so long as
demand and supply conditions do not change. If, how-
ever, either market demand or supply or both change
the equilibrium wage rate can also change. When most
of the firms, for instance, introduce a new training pro-
gram with the view to improve productivity of their
workers or else they provide improved equipments to
their workers, then the result could be a higher MRP
leading to an increase in demand for labour and hence
the wage rate. That is not all in fact a change in the
market price of the product that labour produces will
affect their MRP and hence their demand and the
wage rate. Similarly a decrease in wage rate in other
similar industries may increase supply of labour in the
other and therefore results in excess supply of labour
leading to a fall in the wage rate. Also, if number of
individuals who qualify to work in an occupation de-
clines, say due to migration abroad, then supply of
labour decreases and the resulting shortage drives the
wage rate up.

So, the equilibrium wage rate may rise or fall in re-
sponse to a change in demand and supply under the
conditions of perfectly competitive labour market. In
the real world, however, conditions of a perfectly com-
petitive labour market cannot hold in many cases just
like conditions of perfectly competitive product market
rarely exist. The theory of wage determination then pro-
vides room to analyze how wage rate will be determined
just like theory of firm explains how price determination
is not entirely dependent on the market forces of de-
mand and supply in imperfect market. So, now we ex-
tend our analysis to allow various market imperfec-
tions, such as monopsony, trade unions and govern-
ment intervention.

In the contrary to perfect market there may be, for in-
stance, a single buyer of labour — a ‘monopsonist’ —
where a large factory is the main source of employment
in a locality. If this is the case, the monopsonist will be
facing upward sloping market supply curve and in or-
der to recruit additional workers it has to offer a higher
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Wage rate that causes MC,_ to be higher than the wage

rate. This is illustrated in the figure below:
A

wage rale
£¢ ralg MCL
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The monopsonist, being a profit maximiser, will employ

Where the MC, is equal to the MRP,, i.c. point A, hence

L, workers will be employed. The wage rate, however,
is given by the average cost curve S(AC)) and this will

be W . The point to consider is that wage rate is not

entirely determined by the demand and supply forces,
the theory, however, can be extended to analyze a situ-
ation such as this.

Trade unions also influence the market wage through
collective bargaining. It involves the direct negotiation
brtween a trade vaion and the cmployers. Successf{ul
cotlective bargaining in a perfectly competitive labour
market could raise the wage rate from W, to W,, as
shown in the figure below.

rcal wage 4 S
W, B A "
|
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N
W,

/ N D,
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No, of workers

emplayed
In thig case it’s the trade union and the management
deciding the wage rate with certain negotiations rather
than the forces of demand and supply. There may be
individuals who are willing to work for a wage below
W, but they would be prevented from doing so by the
union agreement.

Similar to this a government, considering the equilib-
rium wage rate w| too low, may decide to fix w, as the
minimum wage and then makes it illegal to pay a wage
below this. The government in this case also overpow-
ers the market forces and determines the wage rate that
it thinks is fair.

So, it follows that wage determination in labour market
just like price determination in a product market is en-
tirely dependent on perfect market conditions. How-

Topie 23 e
cever, when elther of the two Mmarkegs L) 3 as b
perfections we can change oy analys; et o1 /h
date other factors that over Power the 18 to aecqy Iy, tl'
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Question 16 l

(@) Distinguish between SUpernormy)

C
C
i X a T
cconomic rent and consider the °*rczr°m ang 4
when each occurs. m . ;

t

() Discuss whether you agree with the i (1
trade union might be able tg achieve hj h:n that ,
for its members but only by causing Somer Wageg P
ployment, ”“[elfg]v 4
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Essay

(@) Supernormal profit refers to a firm’s earnings oyey
and above what i< needed keep its resources iy
their present use. Now the minimum the a fim
must earn in order to remain in the present bugi.
ness is known as normal profit. This in effect re.
fers to the opportunity cost of all its resources
being used at present. On the other hand economic
rent is the excess that an input earns over the mini»
mum amount needed to keep it in its present use,
In effect it is the opportunity cost of its present job
that is known as transfer earnings. This is similar
to supernormal profit in that it refers to the surplus
over the opportunity cost. It is different, however,
from supernormal profit as it refers to the surplus
over the opportunity cost of a resource while si-
pernormal profit is the surplus over the opportu-
nity of doing a business.

In their pursuit of maximizing profit all firms, ©
gardless the type of market, produce an outgu;
where they equate marginal revenue (MR) ";“ ¢
their marginal cost (MC). At that point the 16¢1%
profit, however, may range from supernorma s
normal and sub normal, depending on the defcs'
of competition that may exist in different marl .
Firms earn normal profit when their averagz
(AC) just equals average revenue (AR). Thuernor-
AR > AC, indicates supernormal profit. Sugcia
mal profit, in the long run, is usually aSSXit bar-
with the industries marked with entry an'd : Thes¢
riers such as monopolies and oligop° ‘et' o
barriers may range from high capital Co,se}ing
mies of scale, sunk cost and various mar ver, fi®
legal barriers. In a perfect market, howfrun while
may earn supernormal profit in the shor
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lity is ruled out in the long run due to

absence of entry barriers.

Conditions in a perfectly compctili\_/c mnrkcl‘lcud
to all firms being “price tnkc-rs” with a perfectly
clastic demand curve 1j0r their product.- So', ca?h
individual firm maximizes proﬁt by'ad_mstmg its
output to the point where its nn:u:gmal revenue
equals marginal cost. In such conditions prof it may
range from abnormal, normal and subnormal in the
short run, However, due to the absence of entry
barriers, profit is maintained at the normal level in
the long run. The graph below illustrates this;

Market Firm
\ MC

- s g A
et o LA

the

P, \c/N/ \e V‘;\R=MR,

P / \D, AR=MR
DJ Yo

0 Q © 99 Q

In the short run, the interaction between demand
and supply determines the “market-clearing” price
OP. Let’s now assume that an increase in the mar-
ket demand to D, raises the price to P and thus
creates an opportunity to earn supernormal profit.
The industry offering supernormal profits encour-
ages the entry of new firms into the industry. This
causes an outward shift in market supply that
forces the price down until price = long run aver-
age cost. At this point, each firm in the industry is
just making normal profit. So, firms in a perfectly
competitive market do earn supernormal profit for
a short while, the entry of new firms, however,
erodes this in the long run.

In cases of monopolies and oligopolies firms may
earn supernormal profit both in the short and long
un, A monopolist, knowing that entry of new firms
Is restricted by effective entry barriers; continue to
Ch‘ffge a high price that yields supernormal profit.
This can be shown on the graph below.

A

$
Supernormal

rofit
P MC

AC

0 q A

At the prof .
. p;()ﬁt maximizing output Oq, the shaded
Measured by the vertical difference

rectangl

between monopolists’ AR and AC is marked as su-
pernormal profit that can occur both in the short
and long run,

In order to analyze economic rent we use market
demand and supply of an input, say labour. The
graph below illustrates cconomic rent earned by
the workers in a labour market.

wage 4 S
rafc
c
W =
|
]
S |
a |
E D
0 N workers

At the equilibrium wage Ow the industry employs
ON workers. The supply curve indicates the num-
ber of workers available at each and every wage
rate. It, therefore, represents the minimum that each
of them must earn in order to remain in the same
occupation. So, out of the total earnings OweN,
the triangular area eaw, which is above the supply
curve and below the wage rate, represents the sur-
plus over what is needed to keep all these workers
in their present jobs. The area OaeN, therefore rep-
resents their opportunity cost or transfer earnings.

The amount of economic rent, however depends

on the elasticity of supply of a factor. In order to
analyze this consider the graphs below:

wage A
rate : S, (pes=0)
W g S'_‘ ( pes= o)
N
0 N worke?s

The two supply curves S| and S, represent differ-
ent elasticity conditions where wage rate is same
in both cases. It can be noted that when the sup-
ply curve is vertical the entire area represents eco-
nomic rent because a decrease in wage rate would
not lead to any worker to move elsewhere. This is
the case where workers possibly do not have alter-
native job availability anywhere. When the supply
curve is horizontal the entire area O we N repre-
sents transfer earnings and therefore economic
rent is zero. In this case a fraction decrease in wage
rate would lead all the workers to move elsewhere
as carnings from alternative jobs are the same as
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- ployed, The wage rate W

camings from their present jobs, Thus it follows
that economic rent changes due fo a change in the
clasticity of supply. The higher the PES the lower
is the economic rent and vice versa.

Wage is the price paid for labour. In a perfectly
competitive labour market, so the cconomic theory
goces, wage rate is determined by the market forces
of demand and supply of labour. The theory, how-
ever, could be extended to allow various real world
market imperfections. There may be, for instance, a
single buyer of labour — a ‘monopsonist’ — where
a large factory is the main source of employment in
a locality. If this is the case, then the monopsonist
will be facing upward sloping market supply curve
of labour. It, therefore, suggests that in order to
recruit additional workers it has to offer a higher
wage rate. In such a case, the monopsonist’s de-
mand for labour will affect the wage rate.

Monopsonist’s demand for labor curve is found by
measuring marginal revenue product of each addi-
tional worker (MRP)). The marginal revenue prod-
uct (MRP,, is the increase in revenue that results
from employing one more worker and it is obtained
by multiplying marginal physical product of labour
(MPP)) with the firm’s marginal revenue (MR).
Thus MRP; =MPP x MR. MPP, is the increase in
total output when one more worker is employed
and is subject to the law of diminishing returns
while MR is determined by the price of the finished
product. This is illustrated in the figure below:

\
wage rate [ MC
L
A AC(S)
"
1y B
MRP
Koln le L, DE

The higher MC, than AC| can be explained by the
use of a simple example. At a wage rate of £ 100, 50
workers may be employed, If, however, the monop-
sonist wishes to employ one more worker he is
forced to offer £ 101, the increase being paid to all
workers. The average cost is now £ 101 but the
marginal cost is £151, comprising of £ 10] paid to
the 51% worker plus £ | paid to each of the 50 origi-
nal workers,

The monopsonist, being a profit maximiser, will
employ where its MC, equals MRP, , indicated by
point A in the graph, hence I, 1 workers will be em-
1 however, is piven by

the S curve (AC).Ina perfect| c 4
monopsony market the wage ang
employed would have begp, W MUmbey b:n.
tively. Thlfs Monopsony power ir21 :n in
will result in a lower leYCI Ofemplo)'me Atk
wages than would exist in 2 Compg f‘t.andk)w;
market. However, this comparatiye |, itiye ah%'r
and employment can be corrected by, ‘;Vcr Yager..
trade unions. 1C0Mory
Trade unions are made up of groy A

who have a common inter-est, This coy (‘j’fl;workerS
mon skill, a similar job or Wworking jn s Cacyy,
dustry. The aims of a trade union cgp, ransamei i
improving the working environment o ta}lg: from
the case of those members the union seeg -'13”[; u
unfairly dismissed. An important functiop istm'n
crease the wage rate of jts members 4 tom.
unions, more often than not, seek to achiever;de
objective through collective bargaining, .

Collective bargaining involves the direct negyf.
tion between a trade union, on behalf of its mer.
bers, and the employer(s). Suppose that the work.
ers in an industry organize themselves under 3
single union so that the monopsonist employe
now faces a monopoly union — g bilateral mo.
nopoly. In this case the two sides will setfle the
wage through collective bargaining. The outcome
of bargaining depends on the objective and
strength of each side as shown in the following

graph.

wage A MG,
$)
S(AC)
(o) SERE,.
/) SR 4 Lo
W, i il D(MRP,)
] ]
\Vl ) |A : :
Lo
A O SR
0] I_,I L2 LJ workers

emplo)"

The monopsonist facing a large number of s down

ees in the industry will force the wage ra:jeer e
to OW, and restrict employment L. c the &€
circumstances the income rt:preSf3"t.e and ther®
W, ABC reflects worker’s exploitatio” een €’
fore it becomes a zone of bargaining b¢ g S
ployer and union. Now let’s assum® setsami’’
cessful resistance from the trad.e unlO"S o y our’®
mum wage of W, which will kink thf: in the 1%
of labour and produce a discontinuity =

ginal cost curve of labour.
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(¢ the monopsonist has a profit in-

‘ a
W, wage I
/\t“ivac {o hire extra workers so long as the mar-
\l . "
e nue product of labour is greater than the

ginal reve

sarginal cost of labour. Hence, it will employ L,
marginé

workers. Following a union I:orccd wage rise, not
only do the workers get a higher wage, but the
monopsonist employer actua.lly employs more
workers. It is only when the union forces the wage
rate above W that employment starts to fall.

Thus it follows that a trade union might be able to
achieve higher wages and more employment for its
members. It, however, depends on and how large
is the bargaining zone and where the wage rate has

been fixed.

Question 17

(a) ‘In perfect competition in the short run, wage rates
in some occupations will be higher than in others.’

Explain the economic analysis underlying this.
[12]
(® Do you agree that in an imperfect labour market
any activity by trades unions designed to increase
wage rates would inevitably lead to unemployment
in that market? [13]
[J16/P4/04]

Essay

(@ In a perfectly competitive labour market, so the
economic theory goes, wage rate is determined by
the market forces of demand and supply of labour.
Many firms competing with one another in hiring a
specific type of labour characterizes this type of
{narket. There are numerous qualified workers with
identical skills independently supply labour and
there exist perfect knowledge, perfect mobility and
freedom of entry and exit.

The market demand for labour curve is found by
Summ.ing horizontally the labor demand curves
;";irfl;z: revemfe product curves) of the indiv'idual
increz;s ¢ marginal revenue product, MRP,, is the

€ In revenue due to employing one more

.

unit of labour. MRP, = MPP, x MR.

lozrtchiesi’gpl){ side of the labor mar.ketz VY.e assume

available ‘:S’O"; workers compete individually for

labor SIOPJQS 2 Ihe S”_pp!y curve for each type of

A group muStuPWarfj, indicating that employers as

Workers. Thisp?y higher wagc'rates to obtain more

Workers 5 1¥ED bccal{se firms must bid these
Way from other industries.

Both the equilibrium wage rate and level of employ-
ment are determined by the intersection of the mar-
ket demand and supply. The theory further as-
sumes that changes in the market forces of demand
and supply will eventually restore a stable cquilib-
rium at a new wage level,

In the short run wage differential in perfect compe-
tition between occupations is associated with dif-
ferent conditions of demand and supply. If a unit
of labour produces a certain physical amount of a
good which sells at a particular price (marginal rev-
enue product) then the employer cannot afford to
pay the worker a wage greater than the MRP.
Hence an improvement in the productivity of
labour would increase the demand for labour; like-
wise, an increase in the price of the product will
increase the demand for labour. Thus the higher
the MRP of labour the greater is the demand for
labour and the higher the wages going to labour.
Consider the graph below;

4
wage r S
Wa [ ==->c----3 :
]
WA _________ : E
: ] D (market B)
]
‘: : D (market A)
1 / -
O A B g

workers

Given the same supply condition, a higher wage in
occupation B is the result of higher demand for
labour.

Similarly with same level of demand but different
levels of market supply can also result in wage dif-
ferences in different occupations. This is shown in
the graph below:

A
wage S (market A)
S (market B)
\VA ————————— \
I
Whirroriees '{ oA
1 I
i
| |
| |
I |
1 I
1 1 >
0 A B workers

In market B the level of supply of labour is higher
than in market A. This difference in supply of
labour leads to differences in equilibrium wage rate
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in two occupations, Different levels of supply can
be attributed to the differences in the number of
people in the cconomy available to work in the
given industry. This could result duc to the situa-
tion in other similar industries. If, in relative terms,
the wage rate becomes less attractive in a similar
industry, or the working conditions dcteriorate,
then the industry in question will experience an
increase in the number of workers offering their
labour services. This will shift the supply of labour
curve to the right resulting in a lower wage rate.

In addition to this different elasticity conditions of
demand and supply of labour in different occupa-
tions could also result in wages to be different,
Following graph explains this;

A S,
wage

W,

workers

S, is relatively inelastic supply of labour and repre-
sents occupation 'a' while S, is relatively elastic
supply and refers to another occupation labeled as
'b". Initially, We is the equilibrium wage rate in both
occupations. Now let's assume that demand for
labour in both these occupations increases from D
to D,. The new wage rate is Wa in occupation
where supply of labour is relatively inelastic and it
is higher than the wage rate in occupation 'b' where
supply of labour is relatively inelastic. Over all sup-
ply may be relatively inelastic in market 'b' because
it could require talent and a relatively longer train-
ing to qualify to work. Thus the workers in market
'b" can command high wages due to a higher MRP
and restricted supply.

Similarly if demand for; particular type of labour is
inelastic then the likelihood is that labour will re-
ceive higher wages. The following graph explains
this;

(®)

Wo rkCl’s

Demand for labour in market ' is
tic while in market b it is relatively elastic AR
supply of labour in both markets will Ca;us aliy
equilibrium wage rate to be higher in market ,:I 3::
in market 'B'. Demand for laboyr will be el i
'when other factors cannot easily be Substitustuc
for it, when the demand for the good it pro duCe:'d
inelastic and if labour forms only a smal| PEFCen]t.
age of the entrepreneur’s total costs,

It therefore follows that in perfect market wage gir.

ferentials in the short run could exist dye tq the dif.
ferences in demand and supply conditions,

r elatiVe[y ing|

Although economic theory of wage determinatiop

assumes a perfectly competitive market, howeve,

the theory could be extended to allow various rea|

world market imperfections. There may be, for in-
stance, a single buyer of labour — a 'monopsonist
— where a large factory is the main source of
employment in a locality. If this is the case, the
wage rate increases as more labour is employed.
Hence, monopsonist will be facing upward sloping
market supply curve and in order to recruit addi-
tional workers it has to offer a higher wage rate. In
such a case, the size of an employer's demand for
labour will affect the wage rate. This is illustrated
in the figure below:

A
wage rate MC,

A ACS)

W,
W, A B

MRP

7/

0] L, L, o
. byt
med y 50

The higher MC, than AC, can be expla

. te 0 %
use of a simple example. At a wage ra e monoP

rker h¢
410 al

workers may be employed. If, however, t
sonist wishes to employ one more WO )
forced to offer £101, the increase being P
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5. The average cost is now £101 but the is only when the union forces the wage rate above
work;‘rni cost Is £151, comprising of £101 paid to W, that employment starts to fall.
:zzrsglst worker plus £1 paid to each of the 50 origi- It, therefore, follows that in an imperfect labour
nal workers. ‘ _ market any activity by trades unions designed to
gimilar t0 the perfect m.arket a 1110110P50l11§t, being increase wage rates would inevitably lead to unem-
a profit ma.\’imisc'r. will CmPl_Oy wl?crc its MC, ployment only if the union forced wage rate is fixed
cquals MRP,, indicated by point A in the graph, above the perfectly competitive wage rate.

nence L, workers will be employed. The wage rate
W1, however, is given by the S curve (AC)). In a
pcrfectly competitive non-monopsony market the
wage and numbers being employed would have  Question 18
peen W, and L, respectively. Thus monopsony .
powet in a labour market will result in a lower level () Some occupations that do not have pleasant work-

of employment and lower wages than would exist ing conditions, such as rubbish collection, receive
in a competitive labour market. However, this com- low pay, while those with pleasant conditions,
parative lower wage rate and employment can be such as senior managers, receive high pay. i

corrected by incorporating trade unions. How far does economic analysis explain this situa-
Trade unions can influence the market through col- tion? [12]

lective bargaining. It involves the direct negotiation

between a trade union, bargaining collectively on ®)
behalf of its members, and the employer(s). Sup-

pose that the workers in an industry organize them- [N16/P4/Q6]
selves under a single union so that the monop-
sonist employer now faces a monopoly union —
a bilateral monopoly. In this case the two sides will ~ £55ay

settle the wage through collective bargaining. The  (a) In a perfectly competitive labour market, so the

Discuss what influence a trades union and a gov-
ernment can have in determining wage rates. [13]

outcome of bargaining depends on the objective economic theory goes, wage rate is determined by
and strength of each side as shown in the follow- the market forces of demand and supply of labour.
ing graph. Many firms competing with one another in hiring a
MC specific type of labour characterizes this type of
L
) identical skills independently supply labour and

wage 4 / market. There are numerous qualified workers with
’i S(AC) there exist perfect knowledge, perfect mobility and
|
]

freedom of entry and exit.

|
&l 2T The market demand for labour curve is found by
3 I b i D(MRP) summing horizontally the labor demand curves
W, ﬂA i ! (marginal revenue product curves) of the individual
! ! i firms. The marginal revenue product, MRP,, is the
L > increase in revenue due to employing one more
0 Li L, Ly workers poving

unit of labour. MRP; =MPP, x MR.

On the supply side of the labor market, we assume

there is no union; workers compete individually for

available jobs. The supply curve for each type of
labor slopes upward, indicating that employers as

wa e of . . 5 ) 3 .

ab%)ur W5, which will kink the supply curve of a group must pay higher wage rates to obtain more

cost cuiszzj g;oldl;ce Siliscontinuityinsii/margioal workers. This is so because firms must bid these

abour. workers away from other industries.

The'monopsonist facing a large number of employ-
€es in the industry will force the wage rates down
' OW, and restrict employment L,. The success-
ful resistance from the trade union sets a minimum

T ; \ ) N

l’lzle‘)\,monopsomst has a profit incentive to hire ex-
‘ ot ?rkers so long as the marginal revenue prod-
| h O labour is greater than the marginal cost of

: N ](;ur. .Hence, it will employ L, workers.
; OWing a union forced wage rise, not only do

the "
sgni:‘;orkers get a higher wage, but the monop-
. €mployer actually employs more workers. It

Both the equilibrium wage rate and level of employ-
ment are determined by the intersection of the mar-
ket demand and supply. The theory further as-
sumes that changes in the market forces of demand
and supply will eventually restore a stable equilib-
rium at a new wage level.
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In the short run wage differentials between occu-
pations is associated with different conditions of
demand and supply. 1f a unit of labour produces a
certain physical amount of a pood which sclls at a
particular price (marginal revenue product) then the
employer cannot afford to pay the worker a wage
greater than the MRP. Hence an improvement in the
productivity of labour would increase the demand
for labour; likewise, an increase in the price of the
product will increase the demand for labour. Thus
the higher the MRP of labour the greater is the
demand for labour and the higher the wages going
to labour.

Referring to the question the theory better explains
the market for rubbish collectors than senior man-
agers. In casc of public rubbish collectors, low
wage rate can be explained by the monoposony
model where government is the biggest, if not the
sole employer of workers, and relatively high elas-
ticity of supply of workers. The market demand for
such workers would be low and relatively elastic.
It is low because the society places relatively lower
value on their services therefore their MRP, and
wage rate is relatively is lower. It is elastic because
their services are not particularly considered es-
sential. On the other hand supply of workers
would be large and relatively elastic. The supply
would be abundant because of low entry require-
ments short training period and low cost.

In addition the lower wages of rubbish collectors
are more likely to result from the weaker bargaining
strength of trade union due to the low and elastic
demand and abundant supply. Also the govern-
ment might have exercised its monopsony powers
to maintain the wage rate at a lower level.

In the case of senior managers the economic
theory does not explain high wage rate adequately.
None of the assumption of the theory fits in this
market well. There is no situation, for instance, of
many buyers and many workers because there are
few employers and few workers. This could be an
oligopoly; where a few large firms dominate the in-
dustry. Thege are not many professional workers
available and they are not homogeneous thus mak-
ing it difficult to plot a market demand and supply
curve rather each worker has his own demand and
supply. Workers are not mobile at least in the short
run. Over all supply is relatively inelastic because

" it requires talent and a long training period to be-
- come an accomplished manager. Thus the senior
_ managers can command high wages due to a
J"»,y,-whighqr_MRP and restricted supply, Their demand
~ isinelastic because their role cannot be substituted
,;,V;VWith other inputs and it is high because pcople

(b) Trade unions are made up of roups

place a high value for the;, -
other hand is restricteq dises Ces, Sup

Pl
ral talent and managemeny ex &

LT
Pcricnpcart,'cllfa, n;}i[’
Thus economic theory eXplaing €is W’J&;L
between two occupationg on th“‘/a 0 difp,

¢ basis

. Y
ences in demand and supply gl (7
long

i dirf&i

Ps of y,

. Orkey,
Objectiye % ns"/%n
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F MOst impoy &

rate of jtg membersm

thrOUgh cO”EC-
rect negotay,
loyers, Sucees;
etly compa,
rate from Wi

have a common interest, Their
from improving the working e
up the cases of those memp
being unfairly dismissed, The;
tion is to increase the wage

EE
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Trade unions influence the markeg
tive bargaining. It involves the d;
between a trade union and the emp
ful collective bargaining in a perfe
labour market could raise the wage
W,, as illustrated in figure below,
wage A
rate

W,

A/SL

N

W,

/ \DL

O L-n L| L3 §

No. of workers employed

The trade union may be unwilling to supply labour
below the wage rate of W, therefore, the §UPPIY
curve becomes W,AS,, being perfectly elastic OJ;F
the section W,A. At the equilibrium wage of :
with no trade union involvement, Lj workers wOuL
be employed. However, with a wage of W» 0[1;11); toz
are demanded and therefore L — L, ar¢ uni'! who
find employment. There may be indlwdus thev
are willing to work for a wage below th Uunio;l
would be prevented from doing so by ¢

agreement.

otect
Government fixing a minimum was¢ t:(g;oil
largely non-unionised labour from betne olu come:
by employers will produce the similar ¢ gover™
However in a modern mixed GCO'}Omyt os belo"
ment acts as a monopsonist, paylns v:;ﬁ,gs
the market equilibrium Icvels.'Thxs eo¥
union and government into contlict

“his can?
plained on the graph below:
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. A
Wage

)] &
’ S(AC,)

\\% ]
w0 D(MRP,)
3 ’ 4 1
WA

]

L

0 1 workers

The government facing a large number of employ-
ces in the industry will force the wage rates down
1o OW, and restrict employment L,. The entry ofa
trade union t0 the industry, which sets a minimum
wage of Wa, will kink thc- supply curve qf labour
and produce a discontinuity in the marg!nal cost
curve of labour. The government, acting as a
monopsonist, has an incentive to hire extra work-
ers so long as the MRPy, is higher than the MC, .

Hence, it will employ L, workers
Following a union forced wage rise, not only do
the workers get a higher wage, but the monop-

sonist employer actually employs more workers. It '

is only when the union forces the wage rate above
WC that employment starts to fall.

However, successful wage negotiation depends on
a number of factors. Firstly, a trade union enjoys
better bargaining position when it is not easy for
employer to substitute labour with capital. Sec-
ondly the elasticity of demand for the product that
the firm produces is relatively low. Thirdly, the pro-
portion of labour costs out of the total costs is low
and majority of the workers belong to the union.
Lastly, the suitable political and economic climate
will add to their bargaining strength.

To sum up, both trade unions and government can
influence the wage rate by forcing the employer to
pay a wage rate different from what is determined
by the market forces.

Question 19

I 2016 the
train drchrs

Jected,

Trade Unions called a strike of bus and
after a demand for higher wages was re-

Use the economj

2 demang £, hi ¢ theory of wages to discuss whether

gher wages is likely to be successful.

[13]
[J17/P4/Q4(b)]

\

Essay

Trade unions are made up of groups of workers
who s.harc the same interest. Their aims can range
from increasing the wage rate as high as possible
and improving the working conditions or taking up
the case of those who they see as being unfairly
treated.

In a perfectly competitive market, so the theory
goes, wage rate is determined by the market forces
of demand and supply of labour. The market de-
mand for labor curve is found by summing hori-
zontally the labor demand curves (MRP curves) of
the individual firms. The marginal revenue product
(MRP,, is the increase in revenue that results from
employing one more worker. MRP,| is obtained by
multiplying marginal physical product of labour
(MPP,) and the firm’s marginal revenue (MR). Thus
MRP; =MPP, x MR. MPP is the increase in total
output when one more worker is employed and is
subject to the law of diminishing returns while MR
is determined by the price of the finished product.

On the supply side of labor market, workers com-
pete individually for available jobs. The supply
curve for each type of labour slopes upward, indi-
cating that employers as a group must pay higher
wage rates to obtain more workers. This is so be-
cause firms must bid these workers away from
other industries. So, according to the wage theory
under these conditions each firm will find it profit-
able to hire workers where its MRP| equals MC,.

Under these market conditions a trade union seek-
ing higher wage rate could either restrict the sup-
ply of labour or negotiate directly with the firms.
They can restrict the supply of labour through the
use of a closed shop or by lengthening the time it
takes to complete an apprenticeship. Over a period
of time this could reduce the supply of labour to
an industry, shifting the supply curve from SL, to
SL, as given in the following figure. .

A

wage SL,
- SL,
W,
W, /
/ D,
0 L, L workers

The result would be an increase in the wage rate
from W, to W,, but with a reduced number em-
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vel
so, there are numerous qualified workers with

o1 skills independently supply labour. There ex-
identica C knowledge, perfect mobility and freedom of
; erffg exit Consequently, both firms and individual

at -

workcrs arc W
e total, orf

jage takers.
nar-ket, labor demand curve is found by
. horizontally the labor de-mand curves (the
,mm% revenue product curves) of the individual
The marginal revenuc product, MRPL, is the in-
fim? in revenue due to employing one more unit of
bof,cr MRPL is determined by the MPPL(marginal
:,‘;ysic'al product of labour) multiplied by the MR

ie.MRPL= MPPL x MR.
On the supply side of the labor market, we assume there
is no union; workers compete individually for available
iobs. The supply curve for each type of la-bor slopes
upur indicating that employers as a group mus¢ pay
higher wage rates to obtain more workers. This is so
because firms must bid these work-ers away from other

sun
margmﬁ

cred

industries.
Market Firm
A
wage A wage
rate rate
W _____________
0 N workers O

In the figure above both equilibrium wage rate and
level of employment are determined by the intersection
of the market demand and supply curves as depicted
in the left part of the graph. Each individual firm will
find it profitable to hire this type of labor up to the
point at which its marginal revenue product (MRPL)is
equal to marginal cost of labour (MC,) shown in the
right part of the graph.

Although economic theory of wage determination is
primarily concerned with a perfectly competitive mar-
ket, however, the theory could be extended to allow
Vafi(?us market imperfections, which exist in real world.
Fo‘r Instance, there may be a single buyer of labour —
3 ‘monopsonist’ — where a large factory is the main
:}‘:UFCe of employment in a locality. If this is the case,
. e'(‘) t'he wage rate, (AC)) is no longer reperesented by
e asf;:omal straight lin.e. Instead the wage rate in-
sonist “fl.snmore lzf.bour is employe'd. Hence, monop-
curve an(]i .be facing upw::1rd slf);.)mg market supply
9 offer 5 }in }c:rder to recruit additional workers it has
i empl lg’ er wage rate. In such a case, the size of
fate Thig 3{’:’ s demand' for labour will affect the wage
illustrated in the figure below:

A
wage rntc} MC
L
A S (AC,)
W, — G
MRP
0 L L g

The marginal cost curve for labour (MC, ) being above
the average cost curve for labour (AC, ) can be ex-
plained by the use of a simple example. At a wage rate
of £100, 50 workers may be employed. If, however, the
monopsonist wishes to employ one more worker he or
is forced to offer £101, the increase being paid to all
workers. The average cost is now £101 but the marginal
cost is £151, comprising of £101 paid to the 51st worker
plus £1 paid to each of the 50 original workers.

The monopsonist, being a profit maximiser, will employ
where the MC, is equal to the MRPL, i.e. point A, hence
L, workers will be employed. The wage rate, however,
is given by the average cost curve S(AC,) and this will
be W,. The overall wage bill to the monopsonist will,
therefore, be OW BL,,. In a perfectly competitive non-
monopsony market the wage and numbers being em-
ployed would have been W, and L, respectively. Thus
monopsony power in a labour market will result in a
lower level of employment and lower wages than would
exist in a competitive labour market.

However, this comparative lower wage rate and em-
ployment can be corrected by incorporating trade
unions or government.

Trade unions seek to increase the wage rate of their
members by either restricting the supply of labour (ex-
plained in part a) or by direct negotiation. Collective
bargaining involves wage negotiation between trade
unions, acting on behalf of their members, and the em-
ployers. Successful bargaining could raise the wage
rate, for instance, from W, to W, as shown in the fig-
ure below:

wage 4

($)

N

S(AC))

D(MRP,)

A .
Y

workers
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The monopsonist facing a large number of cmpl()(})’:‘js
in the industry will force the wage rates flown llo 1i01§
and restrict employment 1, - The entry of a trade ur ol
to the industry, which sets a minimum wage of W}, wi
Kink the supp'ly curve of labour and produce a discon-
tinuity in the marginal cost curve of labour.

The monopsonist has a profit incentive to hire extra
workers so long as the marginal revenue product of
labour is greater than the marginal cost of labour.
Hence, it will employ L, workers.

Following a union fore
workers get
ployer acty
the union
ment starg

ed wage rise, not only do the
a higher wage, but the monopsonist em-
ally employs more workers. It is only when
forces the wage rate above W that employ-
S to fall. Minimum wage fixed by the govern-
ment will-also produce the same result,

Thus we conclude that the question statement is partly

true. Ina perfectly competitive labour market wage rate
paid to the workers equal their MRP and the leve] of
employment is where all those who are willing to work

at the current wage rate are employed. There is there-'

fore little or no room for actions ejther by trade union
Or government. One area where ’

Question 2]

(@ Explain how a fir

m derives jtg demand curye for
labour and consi

der how the structure of the
n which the firm Operates affects

the firm’s demand curve for labour. [12]

(b) Discuss whether it is possible for 5 trade unj

negotiate higher wages and more employment,

3]
[I18/P4/Q4)

Essay

(@) Firms need to hire labour for production of goods

services that they expect to sell in order to earn
profit. Therefore the higher the profit they expect
to carn the more is the output they want to pro-
duce and hence the more they demand for labour.
Economists use marginal productivity theory in
order to explain how a firm's demand for labour

curve is derived from the demand for the product it
produces,

on to-

the same and it

~Ly,
According to the theory 5 Profit max_\'\ 11
weighs up the costs of EMiploy;. lrm;_;ng i
worker against its benefig. The fitny 8 eagf, '™
maximise profits where (o Margip, ’th°'€fc,rf.
ploying an extra worker equals th, rovey L O ey
worker's output carns for the firm e ¢

labour (MC,) is the extrg COst of en:gm g
more worker while the revenue tpy, the ;J_Mng One
from employing one more Worker i calle (;rm Ui,
ginal revenue product o

f laboyr (MRPL) the Map,
MRP; is found by multiplying two

e]eme
ginal physical product of labour msa' Mar,
marginal revenue (MR) Sained by Selling on:d the
unit of output. Thus MRP, = MPPL MR Morg

MPP, is the extra output Produceq p, an aqg:
tional worker employed. If thjs CXtra worke, addl.
more to a firm's revenue thap to its Costs, th
profits will increase. It wij| be worth Cmploying g
worker. But as more workers are employeg dimiy,
ishing returns to labour wil] Set in. Eqch eXtra
worker will produce Jess than the Previous gq,
and thus earn less revenye for the firm, Eventuall;
the marginal revenye from extra

workers wi]| fall to
the level of their marginal cost, At that point, the

firm will stop employing extra Workers. There gre no

additional profits to be gained. Profits are at 5 maxj.
mum,

€ firmg

In order to illustrate this let's assume that the fj

irm
.a perfectly competitive product mr.
number of relatively small firms are
I product. There is perfect informa-
ry exit barriers. Under these condj-
become price takers because price of
determined by the market forces of
demand ang supply and each individual firm can
only choose the qQuantity it sells at the current
market price. Since firms cannot change the market
price therefore CVery next unit they sell will add th'e
same to their total revenue. This implies that the_lr
marginal revenue from all different units will et
Will be equal to the market prices.
wing graphs illustrate this.

tion and no ent
tions all firmg
the product s

P=MR. Follo
A

MRP,.
4_/’

Q Q of labowr
c
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Fig. 2
In both figures MC_ =W indicates that the firm can

workers as it needs by paying the
for it is operating in a perfectly
ur market and hence becomes a
wage taker. Fig 1 shows that as the firm starts
employing more workers, there will come a point (b)
when diminishing returns set in. The MRP curve
thus slopes down after this point. The MRP, curve
will be a similar shape to the MPP, curve, since it
is merely being multiplied by a constant MR. Prof-
its will be maximised at employment level of Q,
where MC, =MRP;. At levels of employment be-
low Q, MRP exceeds MC,. The firm will increase
profits by employing more labour. At . levels of
employment above Qg, MCy, exceeds MRP,. In this

case, the firm will increase profits by reducing em-
ployment. Thus at-wage rate W, the firm demand

for Q, labour but this gives only one point on the

firm's demand for labour curve. In order to gener-

ate further points we assume that the wage rate
 changes in the market as given in fig.2.

At a wage rate of W,, Q, labour is demanded; at
W,, Q, is demanded; at W3, Qs is demanded.
Thus the MRP, curve shows the quantity of
labour employed at each wage rate and this is just
what the demand curve for labour shows. Thus the
MRP, curve is the demand curve for labour of a
rﬁ"m operating in a perfectly competitive product
market, " ‘
We can also derive the demand for labour curve for
afirm operating in an imperfectly competitive prod-
uct market by determining its MRP, with the same
‘t)i?::ssf- Any market that does not fulfill the condi-
o a: fi_perfectly competitive market is c_:lassi-
it h::: dlg{)crfec_t market such as oligopoly with
vith onf d'ﬂ"Of ﬁfms or‘monopol'istic compctition
i imp)érfle elrentlated [-)r.oduct. Firms operating in
downward :lt y competitive product markets fa.ce
Varying degre::l'?*ﬁ de;nand curves though with
= iloning yn Cl.l erefore they all face downward
",i‘.mreasing s rves when’ they choose to sell
e ntities of their product.

employ as many
same wage rate
competitive labo

®)

. rise by the employer, the

Since MRP = MPP; « MR and MPP| eventually
diminishes with an increase in firm's o]:tput while
MR remains constant thercfore MPP| is the sole
reason for a fall in MRP in a pcrfcclly’compctitis/c
product market. However MRP; of a firm opcrating
in an imperfectly competitive product market  de-
creases due to a fall in its MPP, that is reinforced
by a fall in the firm's MR. Its MRP, curve therefore
is likely to fall at a higher rate than a firm operating
in a perfectly competitive product market.

Hence it follows that a firm derives demand for
labour curve by determining its MRP, curve and
the structure of the product market in which the
firm operates only affects the rate of fall on a firm's

demand curve for labour.

Trade unions are made up of groups of workers
who share the same interest. Their aims can range
from increasing the wage rate as high as possible
and improving the working conditions or taking up
the case of those who they sce as being unfairly

treated.

It is the collective nature of the union th
them their power. The larger the proportion of the
workforce that is members, the more clout they will
with the employers. If an individual tries to
oe with his employer on
em-

at gives

have
negotiate for a higher wag
his own, he will have very little clout. The
ployer knows that he can just find another worker
if one employee kicks up a fuss.

If 2 union with a large membership is refused a pay
‘members of the union can
vote on whether to go on strike. This will affect the
employer where it hurts - his profit level! An em-
ployer will be much keener to keep a whole union
happy rather than an individual employee acting
on his own behalf. : & indhen

In a perfectly competitive. labour market, a trade
union seeking higher wage rate could either restrict
the supply of labour or negotiate directly with the
firms. They can restrict the supply of labour
through the use of a closed shop or by lengthen-
ing the time it takes to complete an apprenticeship.
Over a period of time this could reduce the supply
of labour to an industry, shifting the supply curve
from SL, to SL, as given in the following figure.




- I

\Vage T
W2 SL,
Wl
/ DL
O \_
L') Ll —_—
N workers

K ¥

ﬁgem r::}ult would be an increase in the wage rate
: 1 to WZ, but with a reduced number em-

ployed, i.e. L, instead of L,

= neoo%i a:o ictlve bargaining. I.t involves a di-
co]lect?ve[ 1on between a t-rade union, bargaining
Yy on behalf of its members, and the
eleployer(s). The bargaining strength of trade
unions when dealing with employers depends on a
number of factors. For instance, a trade union en-
joys better bargaining position when it is not easy
for employer to substitute labour with capital or the
elasticity of demand for the product that the firm
produces is relatively low. Also, the low propor-
tion of labour costs out of the total costs, majority
of the workers belong to the union and most im-
portantly suitable political and economic climate
will add to their bargaining strength. On the other
hand high price elasticity of demand for the pr‘od-
uct, possibility of labour substitution with capital,
high proportion of labour costs to total cost, lqw
profits and a period of high unemployment will

weaken their power. : .
So if they are operating in a perfect‘!y competitive
labour market a successful collective bargaining

could raise the wage rate from W to W,, as il-
lustrated in the figure below.

wage
rate ? S
B A
W, !
E
W
/ BN
| >
(o) 1) L Ls

No. of workers employed

‘M“_M'\*Nn\ﬁﬂmlc 23 «
——, v :

il g
-”[ll] ng to iy *\‘\3

2 the VI

L being elore fab%

2/?. At the Cquilib

union involvcment

I'he trade unjon may be
below the wage rate of

curve becomes W AS
the section w At
with no trade
be employed.

§

However In an imperfectly ¢
where workers in an industry e i
under a single union so that t
ployer now faces a monopoly yp;
monopol i i |
poly the two sides are Mmore [jke later,

the wage through collectj
gk ctive bargain; O seqy
come of bargaining depends on th: l:bg.' e o,
strength of each side as shown in , JeCtive ang
graph. g f°“0Wing
wage A MCL
(5) /
S(AC)
Wl ] -'.;-"‘ &
W byt
L et D(MRP))
Wz L Y ]’ ; !
’ ) I {
) L
] ro
0 Ly Ly Ly workers

The monopsonist facing a large number of employ-
ees in the industry will force the wage rates down
to OW, and restrict employment L . However the
trade union seeking higher wage sets a minimym
wage of W, which will kink the supply curve of
labour and produce a discontinuity in the marginal
cost curve of labour.

The monopsonist has a profit incentive to hire ex
tra workers so long as the marginal revenue PrOd'f
uct of labour is greater than the marginal C'OStn(I)y
labour. Hence, it will employ L, workers. Itis iVC
when the union forces the wage rate ?bozeunion
that employment starts to fall. So follow;rllirs oy
forced wage rise, not only do B Joyer &t
higher wage, but the monopsonist €M

ally employs more workers. i
It therefore follows that there are aotrade rion
achieving a higher wage clal.m if t'mp.ér ety com“
negotiating with employers 1 an lthoug il arsﬁdb
etitive labour market conditions, oth of 1 ¢
Zepends on the bargaining strend

unions.
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ns wage determination
he forces of demand and supply in a per-

foctly competitive labour market. In such a :.narket,
so the theory 80€S, many firms compete with one
another for hiring a specific type of lab.our. Als'o,
thérc are numMerous qualiﬁed workers available with
identical skills. Both firms and workers have access
o all the relevant information and workers can
move freely into and away from the market.

| productivity theory in

Economists USC margina
n how a firm's demand for labour

order t0 explai

curve is derived. According to the theory a profit

maximizing firm employs workers up to the point
ost of employing an extra

where the marginal ¢
worker equals the revenue that the worker's output
carns for the firm. Margin@l cost of labour (MC,) is

the extra cost of cmplqyir_;g one more worker while
the revenue that the firm gqins from employing one
more worker is called the marginal revenue product

of labour (MRP,).
MRP, is found by multiplying two elements - mar-
ginal physical product of labour (MPP,) and the
m_a;gii;gllrevenug (MR) gained by selling one more
wnit of ontput, Thus MRP, = MPP, x MR where
MBP, is the extra output produced by an addi-
tlonal worker employed.
If this extra worker adds more t0 2 firm's revenue
than to its costs, the firm's profits will increase. It
will be worth employing that worker. But as more
workers are employed, diminishing returns to
labour will set in. Each extra worker will produce
less than the previous one, and thus earn less rev-
enue for the firm. Eventually the marginal revenue
fr'om extra workers will fall to the level of their mar-
ig_mal cost, At that point, the firm will stop employ-
tngbema workers. There are no additional profits
0 be gained, Profits are at a maximum. Following
graphs illustrate this.

ic theory explai

A
/\
W, A .
- ?\B ::ZLJ
£ - L2
Wy E ;\7\ MCy,
I
| MRRD
O Q Q Q; Qof labouf
Fig. 2
MC, = W indicates that the firm can employ as

as it needs by paying the same wage
rate for it is operating in a perfectly competitive
labour market and hence becomes a wage taker. At
a wage rate of Wy, Q labour is demanded; at W,
Q,is demanded; at W, Qs is demanded. Thus the
MRP curve shows the quantity of labour em-
ployed at each wage rate and this is just what the
demand curve for labour shows. Thus the MRP
s the firm's demand for labour curve.

bor curve is found by sum-
demand curves of all indi-
vidual firms and it slopes downward from left to
right simply showing an increasing number of
workers demanded collectively by all the firms as

wage rate decreases.
On the supply side of

many workers

curve i
Market, demand for la
ming horizontally the

the labor market, we assume
there is no union; workers compete individually for
available jobs. The supply curve for each type of
Jabor slopes upward, indicating that employers as
a group must pay higher wage rates to obtain more
workers. This is so because firms must bid these
workers away from other industries. This is illus-

trated on the graphs below;

Market Firm
wage g wage A
rate rate
Wheeeeed P— AC, =MC,
|
|
! D MRP,
0 N  workers O N workers

In the figure above, both the equilibrium wage rate
and level of employment are determined by the in-
tersection of the market demand and supply curves
as shown in the left part of the graph. Each indi-
vidual firm will find it profitablé to hire this type of
labor'upl to the point at which its MRP, is equal to
marginal cost of labou i i i

b r (MC,) as given in the right

“’
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rhc Cauilil
emag:; l:::?: Wage rate remains there S0 long Iu;
0Wever, ity pply conditions do not change. h
the Qq"ilibx-iu er market demand or supply chnngc‘::
of the firm ;‘n Wage rate -"'dso changes. th.n .m'o.s,
Program \ S for instance, introduce a new t‘m.lnmt;
thej "vuh the view to improve producuwlylo
T workers or else they provide improved equip-

m‘cms to their workers, then the result could be a
higher MRP, leading to an increase in demand for
labour and hence the wage rate. That is not all in
fact a change in the market price of the product
that labour produces will affect their MRP.

Similarly a decrease in wage rate in other similar in-
dustrics may increase supply of labour in the mar-
ket leading to a fall in the wage rate. Also, if num-
ber of individuals who qualify to work in an occu-
pation declines, say due to migration abroad, then
supply of labour decreases and the resulting short-
age drives the wage rate up. So, the equilibrium
wage rate may rise or fall in response to a change
in the market forces of demand and supply. How-
ever the extent to which wage rate changes de-
pends on elasticity of demand and supply of
labour.
In the real world, however, conditions of a perfectly
competitive labour market rarely exist. The theory
of wage determination then provides room to ana-
lyze how wage rate will be determined in an imper-
fect labour market. So, now we extend our analysis
to allow various market imperfections, such as
monopsony, trade unions and government inter-
vention.
Contrary to perfect market there may be, for in-
stance, a single buyer of labour - a 'monopsonist'-
where a large factory is the main source of em-
ployment in a locality. If this is the case, the
monopsonist will be facing upward sloping market
supply curve and in order to recruit additional
workers it has to offer a higher wage rate that
causes firm's MC_ to be higher than the wage rate.
This is illustrated in the figure below:

A MC,

L e
N .
The monopsonist, bejn h.'ﬂq'

employ where the M, l’isﬂcp“)ﬁt SR
point A, hence L, WOrlgers ‘g};ﬂl t
wage rate, however, iy 8chnl [l be Cmp,
curve S(AC,) and this wij| b-)y the ﬂverjw" ‘,
consider is that wage rate ig nof \\{I, The e :
by the demand and supply forccmne[ Q'Emm,
nomic theory. 525 giye, b"’“ir%
Trade unions also influence p ,

through collective bargaining, ; ine thet ,
negotiation between a trade unjy, Volveg i, i:&
ers. Successful collective bargain; :nq the °'ﬂp]:"
competitive labour market coy]q raisge lt:e crfeql,jy'

W

from W, to W, as shown in the figure | ,ge%
Cloy,

wage /r
S
B A L
i
I
Wl
/] NS
0 T Ly 56 SR 3 o
" : L No. of workery
employed

In this case it's the trade union and the manag.
ment deciding the wage rate with certain negofiz
tions rather than the forces of demand and supply
There may be individuals who are willing to work
for a wage below W, but they would be prevented
from doing so by the union agreement.

Similarly when a government, considers the equi
librium wage rate W, too low, it may decidelto fix
W, as the minimum wage and then makes it llegl

to pay a wage below this. The government it this

[.
case also overpowers the market forces and dete
ks is fair.

mines the wage rate that it thinks I
So, it follows that wage determination in labog
market is entirely dependent only in perfect ’T‘”m
conditions. However, when the market is SubJe:
imperfections there are factors that over poO™°
market forces of demand and suPP'}'- ,




